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CHAPTER-9 IND AS 115:  
REVENUE FROM CONTRACTS WITH CUSTOMERS 

Questions 

1. A manufacturer enters into a contract to sell goods to a retailer for ` 1,000.  The 
manufacturer also offers price protection, whereby it will reimburse the retailer for any 
difference between the sale price and the lowest price offered to any customer during the 
following six months.  This clause is consistent with other price protection clauses offered in 
the past, and the manufacturer believes that it has experience which is predictive for this 
contract.  

 Management expects that it will offer a price decrease of 5% during the price protection 
period.  Management concludes that it is highly probable that a significant reversal of 
cumulative revenue will not occur if estimates change. 

 How should the manufacturer determine the transaction price? 

2.  Electronics Manufacturer M sells 1,000 televisions to Retailer R for ` 50,00,000 (` 5,000 
per television).  M provides price protection to R by agreeing to reimburse R for the 
difference between this price and the lowest price that it offers for that television during the 
following six months.  Based on M’s extensive experience with similar arrangements, it 
estimates the following outcomes. 

Price reduction in next six months (`) Probability 

0 70% 

` 500 20% 

` 1,000 10% 
 Determine the transaction price. 
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3. Construction Company C enters into a contract with Customer E to build an asset. 
Depending on when the asset is completed, C will receive either ` 1,10,000 or ` 1,30,000. 

Outcome Consideration (`) Probability 

Project completes on time 1,30,000 90% 

Project is delayed 1,10,000 10% 

 Determine the transaction price. 

4.  Franchisor Y Ltd. licenses the right to operate a store in a specified location to Franchisee 
F.  The store bears Y Ltd.’s trade name and F will have a right to sell Y Ltd.’s products for  
10 years.  F pays an up-front fixed fee.  The franchise contract also requires Y Ltd. to 
maintain the brand through product improvements, marketing campaigns etc.  Determine 
the nature of license. 

5. KK Ltd. runs a departmental store which awards 10 points for every purchase of `  500 
which can be discounted by the customers for further shopping with the same merchant. 
Unutilised points will lapse on expiry of two years from the date of credit. Value of each 
point is `  0.50.  During the accounting period 20X1-20X2, the entity awarded 1,00,00,000 
points to various customers of which 18,00,000 points remained undiscounted.  The 
management expects only 80% of the total award points during the year will be discounted 
of which normally 60% - 70% are redeemed during the next year.   

 The Company has approached your firm with the following queries and has asked you to 
suggest the accounting treatment (Journal Entries) under the applicable Ind AS for these 
award points: 

(a) How should the recognition be done for the sale of goods worth `  10,00,000 on a 
particular day?  

(b) How should the redemption transaction be recorded in the year 20X1-20X2? The 
Company has requested you to present the sale of goods and redemption as 
independent transaction.  Total sales of the entity is `  5,000 lakhs. 

(c) How much of the deferred revenue should be recognised at the year-end (20X1-
20X2) because of the estimation that only 80% of the outstanding points will be 
redeemed? 

(d) In the next year 20X2-20X3, 60% of the expected outstanding points were 
discounted Balance 40% of the outstanding points of 20X1-20X2 still remained 
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outstanding. How much of the deferred revenue should the merchant recognize in 
the year 20X2-20X3 and what will be the amount of balance deferred revenue? 

(e) How much revenue will the merchant recognized in the year 20X3-20X4, if 3,00,000 
points are redeemed in the year 20X3-20X4? 

6. A property sale contract includes the following:  

(a)  Common areas  

(b)  Construction services and building material  

(c)   Property management services  

(d)  Golf membership  

(e)  Car park  

(f)  Land entitlement  

 Analyse whether the above items can be considered as separate performance obligations 
as per the requirements of Ind AS 115?  

7. Prime Ltd. is a technology company and regularly sells Software S, Hardware H and 
Accessory A.  The stand-alone selling prices for these items are stated below:  

 Software S – `  50,000  

 Hardware H – ` 1,00,000 and  

 Accessory A – `  20,000.  

 Since the demand for Hardware H and Accessory A is low, Prime Ltd. sells H and A 
together at `  100,000.  Prime Ltd. enters into a contract with Zeta Ltd. to sell all the three 
items for a consideration of ` 1,50,000.  

 What will be the accounting treatment for the discount in the financial statements of Prime 
Ltd., considering that the three items are three different performance obligations which are 
satisfied at different points in time?  Further, what will be the accounting treatment if Prime 
Ltd. would have transferred the control of Hardware H and Accessory A at the same point in 
time. 

8. On 1st April, 20X1, S Limited enters into a contract with Corp Limited to construct heavy-
duty equipment for a promised consideration of ` 20,00,000 with a bonus of ` 2,50,000 if 
the equipment is completed within 24 months.  At the inception of the contract, S Limited 
correctly accounts for the promised bundle of goods and services as a single 
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performance obligation in accordance with Ind AS 115.  At the inception of the contract, 
the Company expects the costs to be ` 11,00,000 and concludes that it is highly probable 
that a significant reversal in the amount of cumulative revenue recognised will occur.  
Completion of the heavy-duty equipment is highly susceptible to factors outside of the 
Company’s influence, mainly due to difficulties with the supply of components.  

 At 31st March, 20X2, S Limited has satisfied 65% of its performance obligation on the 
basis of costs incurred to date and concludes that the variable consideration is still 
constrained in accordance with Ind AS 115.  However, on 4 June 20X2, the contract is 
modified with the result that the fixed consideration and expected costs increase by  
` 1,50,000 and ` 80,000 respectively.  The time allowable for achieving the bonus is 
extended by six months with the result that S Limited concludes that it is highly probable 
that the bonus will be achieved and that the contract remains a single performance 
obligation. 

 S Limited wants your opinion on the accounting treatment of contract with Corp Limited in 
light of Ind AS 115, for the year 20X1-20X2 and 20X2-20X3. 

9. A Ltd. owns 20 resorts across India.  Every customer who stays in any of the resorts owned 
by A Ltd. is entitled to get points on the basis of total amount paid by him.  Under this 
scheme, 1 point is granted for every `  100 spent for stay in the resort.  As per the past 
experience of A Ltd., the likelihood of exercise of the points is 100% and the standalone 
price of each such point is `  5.  Customer X spends `  10,000 in one of the resorts of A 
Ltd.  What is the accounting treatment for the points granted by A Ltd.? 

10. On 1st April, 20X1, Entity X enters into a contract with Entity Y to sell mobile chargers for  
` 100 per charger.  As per the terms of the contract, if Entity Y purchases more than 1,000 
chargers till March 20X2, the price per charger will be retrospectively reduced to `  90 per 
unit.  Till September 20X1, Entity X sold 95 chargers to Entity Y.  Entity X estimates that 
Entity Y's purchases by March 20X2 will not exceed the required threshold of 1,000 
chargers.  

 In October 20X1, Entity Y acquires another Entity C and from October 20X1 to December 
20X1, Entity X sells an additional 600 chargers to Entity Y.  Due to these developments, 
Entity X estimates that purchases of Entity Y will exceed the 1,000 chargers threshold for 
the period and therefore, it will be required to retrospectively reduce the price per charger to 
` 90.   

 Analyse the above scenario in light of Ind AS 115 and state how the revenue should be 
recognised in such a situation. 
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Answers 

1. The transaction price is ` 950, because the expected reimbursement is ` 50.  The expected 
payment to the retailer is reflected in the transaction price at contract inception, as that is 
the amount of consideration to which the manufacturer expects to be entitled after the price 
protection.  The manufacturer will recognize a liability for the difference between the invoice 
price and the transaction price, as this represents the cash that it expects to refund to the 
retailer.  The manufacturer will update its estimate of expected reimbursement at each 
reporting date until the uncertainty is resolved.  

2.  After considering all relevant facts and circumstances, M determines that the expected 
value method provides the best prediction of the amount of consideration to which it will be 
entitled.  As a result, it estimates the transaction price to be ` 4,800 per television – i.e.  
(` 5,000 x 70%) + (` 4,500 x 20%) + (` 4,000 x 10%). 

3.  Because there are only two possible outcomes under the contract, C determines that using 
the most likely amount provides the best prediction of the amount of consideration to which 
it will be entitled.  C estimates the transaction price to be ` 1,30,000, which is the single 
most likely amount. 

4.  The licence provides F access to the IP as it exists at any point in time in the licence period.  
This is because: 

– Y Ltd. is required to maintain the brand, which will significantly affect the IP by 
affecting F’s ability to obtain benefit from the brand; 

– any action by Y Ltd. may have a direct positive or negative effect on F; and 

– these activities do not transfer a goods or service to F. 

 Therefore, Y Ltd. recognizes the up-front fee over the 10-year franchise period. 

5. (a) Points earned on ` 10,00,000 @ 10 points on every ` 500 = [(10,00,000/500) x 10]  
= 20,000 points. 

It is expected that 80% of the award points will only be redeemed.  Hence, 
considering the likelihood of the variable consideration, 

  

© The Institute of Chartered Accountants of India 



 
 

FINANCIAL REPORTING 2.6       PQ 6 

Value of points = 20,000 points x ` 0.5 each point x 80% = ` 8,000 

Revenue recognized for sale of 
goods  

 ` 9,92,063  [10,00,000 x 
(10,00,000/10,08,000)] 

Revenue for points deferred  ` 7,937  [10,00,000 x 
(8,000/10,08,000)] 

Journal Entry 

  ` ` 
Bank A/c  Dr. 10,00,000  
 To Sales A/c   9,92,063 
 To Liability under Customer Loyalty 
  programme 

  7,937 

(b) Points earned on ` 50,00,00,000 @ 10 points on every ` 500 = 
[(50,00,00,000/500) x 10] = 1,00,00,000 points. 

 Value of points considering future likelihood = 1,00,00,000 points x ` 0.5 each point 
x 80% = ` 40,00,000 

 Revenue recognized for sale of goods = ` 49,60,31,746 [50,00,00,000 x 
(50,00,00,000 / 50,40,00,000)] 

 Revenue for points = ` 39,68,254 [50,00,00,000x (40,00,000 / 50,40,00,000)] 

Journal Entry in the year 20X1 

  `  `  
Bank A/c  Dr. 50,00,00,000  
 To Sales A/c   49,60,31,746 
 To Liability under Customer Loyalty  
      programme 

  39,68,254 

(On sale of Goods)    
Liability under Customer Loyalty 
programme 

Dr. 32,53,968  

 To Sales A/c   32,53,968 
(On redemption of [(100 lakhs -18 lakhs) x 
80% points] 
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Revenue for points to be recognized  

Undiscounted points estimated to be recognized next year 18,00,000 x 80%  

    = 14,40,000 points 

Total expected points to be redeemed within 2 years  

= 1,00,00,000 x 80% - 80,00,000 

Points redeemed in the previous year  = (1,00,00,000 – 18,00,000) x 80%  

       = 65,60,000 

Revenue to be recognised with respect to discounted point  

    = 39,68,254 x (65,60,000/80,00,000) = 32,53,968 

(c) Revenue to be deferred with respect to undiscounted point in 20X1-20X2 
     = 39,68,254 – 32,53,968= 7,14,286 

(d) In 20X2-20X3, KK Ltd. would recognize revenue for discounting of 60% of expected 
outstanding points as follows: 

 Outstanding points = 18,00,000 x 80% x 60% = 8,64,000 points  

 Total points discounted till date = 65,60,000 + 8,64,000 = 74,24,000 points  

Revenue to be recognized in the year 20X2-20X3 = [{39,68,254 x (74,24,000 / 
80,00,000)} – 32,53,968] = `  4,28,572. 

Liability under Customer Loyalty programme Dr. 4,28,572  
 To Sales A/c   4,28,572 
(On redemption of further 8,64,000 points)    

  The Liability under Customer Loyalty programme at the end of the year 20X2-20X3 
will be `  7,14,286 – 4,28,572 = 2,85,714. 

(e) In the year 20X3-20X4, the merchant will recognized the balance revenue of `  
1,84,873 irrespective of the points redeemed as this is the last year for redeeming 
the points. Journal entry will be as follows:  

Liability under Customer Loyalty programme Dr. 2,85,714  
 To Sales A/c   2,85,714 
(On redemption of further 5,76,000 points)    
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6. Paragraph 22 of Ind AS 115 provides that at contract inception, an entity evaluates the 
promised goods or services to determine which goods or services (or bundle of goods or 
services) are distinct and therefore constitute a performance obligation. 

 A performance obligation is a promise in a contract to transfer to the customer either:  

• a good or service (or a bundle of goods or services) that is distinct; and  

• series of distinct goods or services that are substantially the same and that have 
the same pattern of transfer to the customer. 

 As per paragraph 27 of Ind AS 115, a good or service that is promised to a customer is 
distinct if both of the following criteria are met: 

(a)  the customer can benefit from the good or service either on its own or together with 
other resources that are readily available to the customer (i.e. the good or service is 
capable of being distinct); and  

(b)  the entity’s promise to transfer the good or service to the customer is separately 
identifiable from other promises in the contract (i.e. the promise to transfer the good 
or service is distinct within the context of the contract). 

Each performance obligation is required to be accounted for separately. 

 Based on the above guidance, the following table discusses whether the common goods 
and services in property sale contract should be considered as separate performance 
obligation or not: 

Goods / 
Service 

Whether a separate 
Performance 
obligation (PO) or not 

Reason 

Common areas Unlikely to be separate 
PO 

Common areas are unlikely to be a 
separate performance obligation because 
the interests received in common areas 
are typically undivided interests that are 
not separable from the property itself.  
However, if the common areas were sold 
separately by the developer, then they 
could be considered as a separate 
performance obligation provided that it is 
distinct in the context of the contract. 
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Construction 
services and 
building 
material 

Unlikely to be separate 
PO 

Construction services and building 
materials can meet the first criterion as 
they are items that can be used in 
conjunction with other readily available 
goods or services.  
However, the developer would be 
considered to be providing a significant 
integration service as it is bringing 
together all the separate elements to 
deliver a complete building. 

Property 
management 
services and 
Golf 
membership 

Likely to be separate 
PO 

Property management services and golf 
membership are likely to be separate 
performance obligations as they may be 
used in isolation or with the property 
already acquired, i.e., management 
services can be used with the property. 
These types of services are not 
significantly customised, integrated with, 
or dependent on the property. This is 
because there is no change in their 
function with or without the property. 
Also, a property management service 
could be undertaken by a third party. 

Car park and 
Land 
entitlement 

Analysis required Items such as car parks and land 
entitlements generally meet the first 
criterion – i.e., capable of being distinct – 
as the buyer benefits from them on their 
own. 
Whether the second criterion is met 
depends on the facts and circumstances. 
For example, if the land entitlement can 
be sold separately or pledged as security 
as a separate item, it may indicate that it 
is not highly dependent on, or integrated 
with, other rights received in the contract. 
In an apartment scenario, the customer 
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can receive an undivided interest in the 
land on which the apartment block sits. 
This type of right is generally considered 
as highly inter-related with the apartment 
itself.* 

 *However, if title to the land is transferred to the buyer separately – for example in a 
single party development – then the separately identifiable criterion may be met. 

 PS:  Other facts and circumstances of each contract should also be carefully examined 
to determine performance obligations. 

7. Paragraph 82 of Ind AS 115 states that an entity shall allocate a discount entirely to one 
or more, but not all, performance obligations in the contract if all of the following criteria 
are met:  

(a)  the entity regularly sells each distinct good or service (or each bundle of distinct 
goods or services) in the contract on a stand-alone basis;  

(b)  the entity also regularly sells on a stand-alone basis a bundle (or bundles) of some 
of those distinct goods or services at a discount to the stand-alone selling prices of 
the goods or services in each bundle; and  

(c)   the discount attributable to each bundle of goods or services described in 
paragraph 82(b) is substantially the same as the discount in the contract and an 
analysis of the goods or services in each bundle provides observable evidence of 
the performance obligation (or performance obligations) to which the entire 
discount in the contract belongs. 

 In the given case, the contract includes a discount of ` 20,000 on the overall transaction, 
which should have been allocated proportionately to all three performance obligations when 
allocating the transaction price using the relative stand-alone selling price method (in 
accordance with paragraph 81 of Ind AS 115).  However, as Prime Ltd. meets all the criteria 
specified in paragraph 82 above, i.e., it regularly sells Hardware H and Accessory A 
together for ` 1,00,000 and Software S for ` 50,000, accordingly, it is evident that the entire 
discount should be allocated to the promises to transfer Hardware H and Accessory A. 

 In the given case, since the contract requires the entity to transfer control of Hardware H 
and Accessory A at different points in time, then the allocated amount of ` 1,00,000 
should be individually allocated to the promises to transfer Hardware H (stand-alone 
selling price of ` 1,00,000) and Accessory A (stand-alone selling price of `20,000) 
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Product Allocated transaction price (`) 

Hardware H 83,333 (1,00,000/ 120,000 x 100,000) 

Accessory A 16,667 (20,000/120,000 x 100,000) 

Total 1,00,000 

 However, if Prime Ltd. would have transferred the control of Hardware H and Accessory A 
at the same point in time, then the Prime Ltd. could, as a practical matter, account for the 
transfer of those products as a single performance obligation.  That is, Prime Ltd. could 
allocate ` 1,00,000 of the transaction price to the single performance obligation and 
recognise revenue of ` 1,00,000 when Hardware H and Accessory A simultaneously 
transfer to Zeta Ltd. 

8. For the year 20X1-20X2 

 S Limited accounts for the promised bundle of goods and services as a single 
performance obligation satisfied over time in accordance with Ind AS 115.  At the 
inception of the contract, S Limited expects the following: 

Transaction price    – ` 20,00,000 

Expected costs    – ` 11,00,000 

Expected profit (45%)  – ` 9,00,000 

 At contract inception, S Limited excludes the ` 2,50,000 bonus from the transaction price 
because it cannot be concluded that it is highly probable that a significant reversal in the 
amount of cumulative revenue recognised will not occur.  Completion of the heavy-duty 
equipment is highly susceptible to factors outside the entity’s influence. 

 By the end of the first year, the entity has satisfied 65% of its performance obligation on 
the basis of costs incurred to date.  Costs incurred to date are therefore ` 7,15,000 and  
S Limited reassesses the variable consideration and concludes that the amount is still 
constrained.  Therefore at 31st March, 20X2, the following would be recognised: 

Revenue        (A)               – ` 13,00,000   (` 20,00,000 x 65%) 

Costs             (B)               – `   7,15,000   (` 11,00,000 x 65%) 

Gross profit   (C) i.e.(A-B)              – `   5,85,000 
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For the year 20X2-20X3 

 On 4th June, 20X2, the contract is modified.  As a result, the fixed consideration and 
expected costs increase by ` 1,50,000 and ` 80,000, respectively.   

 The total potential consideration after the modification is ` 24,00,000 which is ` 21,50,000 
fixed consideration + ` 2,50,000 completion bonus.  In addition, the allowable time for 
achieving the bonus is extended by six months with the result that S Limited concludes 
that it is highly probable that including the bonus in the transaction price will not result in a 
significant reversal in the amount of cumulative revenue recognised in accordance with Ind 
AS 115.  Therefore, the bonus of ` 2,50,000 can be included in the transaction price. 

 S Limited also concludes that the contract remains a single performance obligation.  
Thus, S Limited accounts for the contract modification as if it were part of the original 
contract.  Therefore, S Limited updates its estimates of costs and revenue as follows: 

 S Limited has satisfied 60.60% of its performance obligation (` 7,15,000 actual costs 
incurred compared to ` 11,80,000 total expected costs).  The entity recognises additional 
revenue of ` 1,54,400 [(60.60% of ` 24,00,000) – ` 13,00,000 revenue recognised to 
date] at the date of modification i.e. on 4th June, 20X2 as a cumulative catch-up 
adjustment.   

9. Paragraph B40 of Ind AS 115, inter alia, states that, “if in a contract, an entity grants a 
customer the option to acquire additional goods or services, that option gives rise to a 
separate performance obligation only if the option provides a material right to the 
customer that it would not receive without entering into that contract”. 

 Further, paragraph B41 states that if a customer has the option to acquire an additional 
good or service at a price that would reflect the stand-alone selling price for that good or 
service, that option does not provide the customer with a material right even if the option 
can be exercised only by entering into a previous contract. In those cases, the entity has 
made a marketing offer that it shall account for in accordance with this Standard only 
when the customer exercises the option to purchase the additional goods or services. 

 In the given case, the customer does get a material right by way of a discount of ` 500 for 
every 100 points that he would not receive without the previous stay in that resort. Thus, 
the customer in effect pays the entity in advance for future goods and the entity 
recognises revenue when the goods are transferred. 

 According to paragraph B42, paragraph 74 requires an entity to allocate the transaction 
price to performance obligations on a relative stand-alone selling price basis.  If the 
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standalone selling price for a customer’s option to acquire additional goods or services is 
not directly observable, an entity shall estimate it on the basis of percentage discount the 
customer may obtain upon exercising the option and the likelihood of the option getting 
exercised. 

 In accordance with above, an entity shall account for award credit as a separate 
performance obligation of the sales transactions in which they are initially granted.  The 
value of the consideration the entity expects to be entitled in respect of the initial sale 
shall be allocated between the award credits and the other components of the sale. 

 In the current case, the standalone selling price of the 100 points is ` 500.  A Ltd. should 
allocate the fair value of the consideration (i.e. ` 10,000) between the points and the 
other components of the sale as ` 476 (500/10,500 x 10,000) and ` 9,524 (10,000/10,500 
x 10,000) respectively in proportion of their standalone selling price.  Since A Ltd. 
supplies the awards itself (i.e. it acts as a principal), it should recognise ` 476 as revenue 
when points are redeemed. 

10. Paragraph 56 of Ind AS 115 states that an entity shall include in the transaction price 
some or all of an amount of variable consideration estimated in accordance with 
paragraph 53 only to the extent that it is highly probable that a significant reversal in the 
amount of cumulative revenue recognised will not occur when the uncertainty associated 
with the variable consideration is subsequently resolved. 

 Further, paragraph 57 of Ind AS 115 state that in assessing whether it is highly probable 
that a significant reversal in the amount of cumulative revenue recognised will not occur 
once the uncertainty related to the variable consideration is subsequently resolved, an 
entity shall consider both the likelihood and the magnitude of the revenue reversal.  
Factors that could increase the likelihood or the magnitude of a revenue reversal include, 
but are not limited to, any of the following: 

(a)  the amount of consideration is highly susceptible to factors outside the entity’s 
influence.  Those factors may include volatility in a market, the judgement or 
actions of third parties, weather conditions and a high risk of obsolescence of the 
promised good or service.  

(b)  the uncertainty about the amount of consideration is not expected to be resolved 
for a long period of time. 

(c)   the entity’s experience (or other evidence) with similar types of contracts is limited, 
or that experience (or other evidence) has limited predictive value. 
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(d)  the entity has a practice of either offering a broad range of price concessions or 
changing the payment terms and conditions of similar contracts in similar 
circumstances.  

(e) the contract has a large number and broad range of possible consideration 
amounts. 

 Entity X estimates that the consideration in the above contract is variable.  Therefore, in 
accordance with paragraphs 56 and 57 of Ind AS 115, Entity X is required to consider the 
constraints in estimating variable consideration.  Entity X determines that it has 
significant experience with this product and with the purchasing pattern of Entity Y.  Thus, 
if Entity X concludes that it is highly probable that a significant reversal in the cumulative 
amount of revenue recognised (i.e. ` 100 per unit) will not occur when the uncertainty is 
resolved (i.e. when the total amount of purchases is known), then the Entity X will 
recognise revenue of ` 9,500 (95 chargers x ` 100 per charger) for the half year ended 
30th September, 20X1. 

 Further, paragraphs 87 and 88 of Ind AS 115 that after contract inception, the transaction 
price can change for various reasons, including the resolution of uncertain events or other 
changes in circumstances that change the amount of consideration to which an entity 
expects to be entitled in exchange for the promised goods or services. 

 An entity shall allocate to the performance obligations in the contract any subsequent 
changes in the transaction price on the same basis as at contract inception.  
Consequently, an entity shall not reallocate the transaction price to reflect changes in 
stand-alone selling prices after contract inception.  Amounts allocated to a satisfied 
performance obligation shall be recognised as revenue, or as a reduction of revenue, in 
the period in which the transaction price changes.” 

 In accordance with the above, in the month of October 20X1, due to change in 
circumstances on account of Entity Y acquiring Entity C and consequential increase in 
sale of chargers to Entity Y, Entity X estimates that Entity Y's purchases will exceed the 
1,000 chargers threshold till March 20X2 for the period and therefore, it will be required to 
retrospectively reduce the price per charger to ` 90. 

 Consequently, the Entity X will recognise revenue of ` 53,050 for the quarter ended 
December 20X1 which is calculated as follows: 

Particulars  Amount in ` 
Sale of 600 chargers (600 chargers x ` 90 per charger) 54,000 
Less:  Change in transaction price (95 chargers x ` 10 price  
 reduction) for the reduction of revenue relating to units  
 sold till September 20X1. 

 
 

  (950) 
Revenue recognised for the quarter ended December 20X1 53,050 
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CHAPTER-10 UNIT 1 : IND AS 41: AGRICULTURE 

Questions 

1. ABC Ltd. is in the business of manufacturing an apple beverage and requires large quantity 
of apples to manufacture such beverage.  In order to satisfy its requirement of apples, it 
enters into 3 years lease contracts with owners of apple orchards. The lease contracts are 
mainly of two types: 

(1)  Contract 1:  The owner of the apple orchard (i.e. the lessor) raises the apple trees 
to produce apples. ABC Ltd. (i.e. lessee) makes a fixed annual payment to the owner 
of the apple orchard who is required to cultivate the produce as per the specifications 
of ABC Ltd.  ABC Ltd. harvests the apples itself for fulfilling its requirement of apples. 

(2)  Contract 2:  ABC Ltd. obtains the apple orchard from owner (i.e. the lessor) to raise 
the apple trees for subsequent harvest of the apples to ensure that the apples are 
as per the requirements of ABC Ltd.  ABC Ltd. makes a fixed annual payment to the 
owner of the apple orchards (i.e. the lessor). 

Explain whether ABC Ltd. is engaged in agricultural activity as per Ind AS 41 in both of the 
cases? 

2. Fisheries Ltd. practices pisciculture in sweet waters (ponds, tanks and dams).  The fishing 
activity of Fisheries Ltd. in such sweet waters consists only of catching the fish.  Comment 
whether such fishing activity will be covered within the scope of Ind AS 41? 

3. M. Chinnaswamy & Brothers Ltd. is a company that is engaged in growing and maintaining 
coconut palms and selling their output in various forms.  The company has a farmland 
having 2,00,000 coconut palms in the coastal area of Karnataka near Mangalore. 
The fair value of each coconut palm is derived based on the average realisable price of  
` 30 per nut (fruit).  Each coconut palm grows 80 nuts per annum on an average basis.  
Each coconut palm can generate revenue for as long as 80 years and the current palms 
are only 20-year-old.  The management thinks that considering the risk factors in business, 
the valuation of each palm can be considered at 5 times its annual revenue. 

 During August, 20X5, the Ooty Hotels Association (OHA) chairman and his team visited the 
corporate office of the company at Mangalore.  The deal was to supply tender coconuts to 
Ooty Hotels at an agreed price throughout the year.  The agreement came into effect from 
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1st September, 20X5 whereby the company shall reserve 15,000 coconut palms (out of 
2,00,000 coconut palms) for OHA and will charge a concessional rate of ` 15 only per nut 
supplied to OHA.  OHA will in turn supply the tender coconuts to each Ooty Hotel at the 
same price.  This contract price is applicable irrespective of the ownership of palm trees (it 
is not an entity-specific restriction).  All tender coconuts of these 15,000 coconut palms 
were used by OHA irrespective of the agreement being effective from 1st September, 20X5.   

 What will be the valuation of 2,00,000 coconut palms in the company’s farm for the quarter 
ended 30th September, 20X5? 

Answers 

1. Paragraph 5 of Ind AS 41, Agriculture defines agricultural activity and biological 
transformation as follows: 

 “Agricultural activity is the management by an entity of the biological transformation and 
harvest of biological assets for sale or for conversion into agricultural produce or into 
additional biological assets.” 

 “Biological transformation comprises the processes of growth, degeneration, production, 
and procreation that cause qualitative or quantitative changes in a biological asset.” 

 Contract 1: 

 As per contract 1, during the 3 years of the contract, ABC Ltd. only harvests apples from 
the apple orchards whereas biological transformation is managed by the owners of the 
apple orchards (i.e. the lessor). Since ABC Ltd. is not involved in the biological 
transformation of the apple orchards and is only harvesting biological assets , it cannot be 
said to be an agricultural activity as per Ind AS 41. Hence, ABC Ltd. is not engaged in 
agricultural activity as per Ind AS 41. 

Contract 2: 

 As per contract 2, ABC Ltd. obtains the apple orchards and is actively involved in the raising 
of apple trees in order to ensure that the apples are as per its requirements. Since, it is 
actively managing the biological transformation and harvest of biological asset, Hence, 
ABC Ltd. is engaged in agricultural activity as per Ind AS 41. 

2. Paragraph 5 of Ind AS 41, defines agricultural activity as follows: 

“Agricultural activity is the management by an entity of the biological transformation and 
harvest of biological assets for sale or for conversion into agricultural produce or into 
additional biological assets.” 
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For fishing to qualify as agricultural activity, it must satisfy both of the below mentioned 
conditions: 

a)  management of biological transformation of a biological asset; and 

b)  harvesting of biological assets for sale or for conversion into agricultural produce or 
into additional biological assets. 

Therefore, when fishing involves managed activity to grow and procreate fish in designated 
areas, such fishing is an agricultural activity as per the above definition. Managing the 
growth of fish for subsequent sale is an agricultural activity as per Ind AS 41. 

In the aforementioned scenario, only fish harvesting is managed by Fisheries Ltd.  
Therefore, mere fish harvesting without management of biological transformation cannot 
be termed as an agricultural activity as per Ind AS 41. 

Hence, fishing in sweet waters (pond, tanks and dams) where only fishing (harvesting) is 
carried out without any management of biological transformation is outside the scope of  
Ind AS 41. 

3. Para 16 of Ind AS 41 says that entities often enter into contracts to sell their biological 
assets or agricultural produce at a future date.  Contract prices are not necessarily relevant 
in measuring fair value, because fair value reflects the current market conditions in which 
buyers and sellers would enter into a transaction.  As a result, the fair value of a biological 
asset or agricultural produce is not adjusted because of the existence of a contract. 

 Moreover, the OHA contract represents just 7.5% [(15,000 / 2,00,000) x 100] of the total 
number of palms in the farm.  Hence, the contract price can’t be considered for fair valuation 
of the entire inventory of bearer plants. 

 The valuation in this case would be as follows: 

 Adding the fair value for 15,000 coconut palm (15,000 palm x 80 nuts x ` 15 x 5 times) and 
1,85,000 coconut palm (1,85,000 palm x 80 nuts x ` 30 x 5 times), we get total valuation 
of 2,00,000 coconut palm as ` 231 crore. 
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UNIT 2: IND AS 20: ACCOUNTING FOR GOVERNMENT GRANTS 
AND DISCLOSURE OF GOVERNMENT ASSISTANCE 

Questions 

1.  A company receives a cash grant of ` 30,000 on 31st March 20X1.  The grant is towards 
the cost of training young apprentices.  Training programme is expected to last for  
18 months starting from 1st April 20X1.  Actual costs of the training incurred in 20X1-20X2 
was ` 50,000 and in 20X2-20X3 ` 25,000.   

State, how this grant should be accounted for. 

2. Entity A is awarded a government grant of ` 60,000 receivable over three years (` 40,000 
in year 1 and ` 10,000 in each of years 2 and 3), contingent on creating 10 new jobs and 
maintaining them for three years.  The employees are recruited at a total cost of ` 30,000, 
and the wage bill for the first year is ` 1,00,000, rising by ` 10,000 in each of the 
subsequent years.   

Calculate the grant income and deferred income to be accounted for in the books for the 
years 1, 2 and 3 under the following two situations: 

(a) There is reasonable assurance that the entity will comply with the conditions attaching 
to them and the grant will be received 

(b) There is no reasonable assurance that the grant will be received. 

3. A Ltd. has been conducting its business activities in backward areas of the country and due 
to higher operating costs in such regions, it has collectively incurred huge losses in 
previous years.  As per a scheme of government announced in March 20X1, the company 
will be partially compensated for the losses incurred by it to the extent of ` 10,00,00,000, 
which will be received in October 20X1.  The compensation being paid by the government 
meets the definition of government grant as per Ind AS 20.  Assume that no other conditions 
are to be fulfilled by the company to receive the compensation.  

 When should the grant be recognised in the statement of profit and loss?  Discuss in light 
of relevant Ind AS. 
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4. A Limited is engaged in the manufacturing of certain specialized chemicals.  During the 
manufacturing process, certain wastewater is produced which is released by A Limited in 
the nearby river.  To reduce pollution of the rivers, the state government has introduced a 
scheme with the following salient features:  

• If a manufacturer installs certain pre-approved wastewater treatment plant, the 
government will provide an interest free loan equal to 50% of the cost of the plant; 

• Such loan will be repayable to the government in 5 years from the date of disbursal; 

• The manufacturer availing the benefit of this scheme must treat the wastewater of 
its factory using the specified plant before releasing it to the river.  If this condition 
is violated, the entire loan shall become immediately repayable to the government 
along with a penalty of ` 10 lakh.  

Cost of the wastewater treatment plant to be installed to avail the benefit of the scheme 
is ` 50 lakh.  A Limited decided to utilise this scheme because, if it were to obtain the 
similar loan from a bank, it would be available at a market interest rate of 12% per annum.  
Accordingly, A Limited applied for and obtained the government loan of ` 25 lakh on  
1st April, 20X1.  A Limited purchased and installed the plant such that it became ready 
for use on the same date.  

A Limited has an accounting policy of recognising government grant in relation to 
depreciable assets in the proportion of depreciation expense.  It has determined that the 
plant will be depreciated over a period of 5 years using straight-line method.  In the month 
of March, 20X3, government officials conducted a surprise audit, and it was found that  
A Limited was not using the wastewater treatment plant as prescribed.  Accordingly, on  
31st March, 20X3, the government ordered A Limited to repay the entire loan along with 
penalty.  A Limited repaid the loan with interest and penalty as per the order on  
31st March, 20X3.  

Measure the amount of government grant as on 1st April, 20X1.  Determine the nature of 
the government grant and its accounting treatment (principally) for the year ended  
31st March, 20X2.  Also determine the impact on profit or loss if any, on account of 
revocation of government grant as on 31st March, 20X3.  

5. To encourage entities to expand their operations in a specified development zone, the 
government provides interest-free loans to fund the purchase of manufacturing equipment.  

 In accordance with the development scheme, an entity receives an interest-free loan of  
` 5,00,000 from the government for a period of three years.  The market rate of interest for 
similar loans for 3 years is 5% per year.  
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 There are no future performance conditions attached to the interest-free loan.  

 Discuss how to account for the above loan.  Pass necessary journal entries in the entity’s 
books of accounts from year 1 to year 3, as per relevant Ind AS. 

Answers 

1. As at 31st March 20X1 the grant would be recognised as a liability (deferred income) and 
presented in the balance sheet as a split between current and non-current amounts.  

` 20,000 [(12 months / 18 months) x 30,000] is current which would be recognised in the 
statement of profit and loss for the year ended 31st March, 20X2.  The balance amount of  
` 10,000 will be shown as non-current. 

At the end of year 20X1-20X2, there would be a current balance of 10,000 (being the non-
current balance at the end of year 20X1-20X1 reclassified as current) in the balance sheet.  
This would be recognised in profit in the year 20X2-20X3. 

Extracts from the financial statements are as follows: 
Balance Sheet (extracts) 

 31 March 20X1 31 March 20X2 31 March 20X3 

Current liabilities    

Deferred income  20,000  10,000         - 

Non-current liabilities    

Deferred income  10,000           -         - 

Statement of profit and loss (extracts) 

 31 March 20X2 31 March 20X3 

Method 1   

Other Income - Government grant received 20,000 10,000 

Training costs (50,000) (25,000) 

Method 2   

Training costs (50,000 – 20,000) 30,000  

Training costs (25,000 – 10,000)  15,000 
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2. (a) When there is reasonable assurance 

The grant of ` 60,000 should be recognised at the beginning of the first year as 
receivable and will be compensated for the related costs over three years. 

The initial journal entry would be: 

Grant Receivable Ac    Dr.  ` 60,000 

   To Deferred Income A/c       ` 60,000 

 Calculation of grant income and deferred income: 

Year Labour 
Cost 

Grant 
Income 

Computation of 
Grant Income 

Deferred 
Income at the 

end of the year 

Computation of 
deferred income at 
the end of the year 

 ` `  `  

1 1,30,000 21,667 60,000 x (130/360) 38,333 (60,000 – 21,667) 

2 1,10,000 18,333 60,000 x (110/360) 20,000 (38,333 – 18,333) 

3 1,20,000 20,000 60,000 x (120/360) - (20,000 – 20,000) 

 3,60,000 60,000    

 Therefore, grant income to be recognised in the Statement of Profit and Loss for the 
years 1, 2 and 3 would be ` 21,667, ` 18,333 and ` 20,000 respectively.  

 The amount of grant that has not yet been credited to the statement of profit and loss 
i.e. deferred income is to be shown in the balance sheet.  Hence deferred income 
balance as at end of year 1, 2 and 3 are ` 38,333, ` 20,000 and Nil respectively. 

(b) When reasonable assurance is not there 

The grant of ` 60,000 should be recognised over three years to compensate for the 
related costs. 

The journal entry on receipt of grant at year 1 would be: 

Grant Receivable Ac    Dr.  ` 40,000 

   To Deferred Income A/c       ` 40,000 
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 Calculation of Grant Income and Deferred Income: 
Year Labour 

Cost 
Grant 

Income 
wrt 1st 

receipt of 
40,000 

Grant 
Income 
wrt 2nd 
receipt 

of 10,000 

Grant 
Income 
wrt 3rd 
receipt 

of 
10,000 

Deferred 
Income at 
the end of 

the year 

Computation of deferred 
income at the end of the 

year 

 ` `   `  
1 1,30,000 14,445 NA NA 25,555 (40,000 – 14,445) 
2 1,10,000 12,222 4,783 NA 18,550 (50,000 – 14,445 – 12,222 – 

4,783) 
3 1,20,000 13,333 5,217 10,000 - (60,000 – 14,445 – 12,222 – 

4,783 – 13,333 – 5,217 – 
10,000) 

 3,60,000 40,000* 10,000** 10,000***   
*40,000 bifurcated into three years in the ratio of 130:110:120 

**10,000 bifurcated into two years in the ratio of 110:120 

***10,000 credited entirely in the third year 

 Therefore, Grant income to be recognised in the statement of Profit and Loss for the 
years 1, 2 and 3 would be ` 21,667, ` 18,333 and ` 20,000 respectively.  

 Amount of grant that has not yet been credited to the statement of profit and loss i.e; 
deferred income is to be shown in the balance sheet.  Hence, deferred income balance 
as at the end of year 1, 2 and 3 are ` 18,333, ` 10,000 and Nil respectively. 

3. Paragraph 7 of Ind AS 20 states that, Government grants, including non-monetary grants 
at fair value, shall not be recognised until there is reasonable assurance that: 

(a)  the entity will comply with the conditions attaching to them; and  

(b)  the grants will be received. 

Further, paragraphs 20 and 22 of Ind AS 20 state as follows:  

 “A government grant that becomes receivable as compensation for expenses or losses 
already incurred or for the purpose of giving immediate financial support to the entity with 
no future related costs shall be recognised in profit or loss of the period in which it becomes 
receivable”.  

 “A government grant may become receivable by an entity as compensation for expenses or losses 
incurred in a previous period.  Such a grant is recognised in profit or loss of the period in which it 
becomes receivable, with disclosure to ensure that its effect is clearly understood.”  

 In accordance with the above, in the given case, as at March 20X1, A Ltd. is entitled to 
receive government grant in the form of compensation for losses already incurred by it in 
the previous years.  Therefore, even though the compensation will be received in the month 
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of October 20X1, A Ltd. should recognise the compensation receivable by it as a 
government grant in the profit or loss for the period in which it became receivable, i.e., for 
the financial year 20X0-20X1 with disclosure to ensure that its effect is clearly understood. 

4. As per the principles of Ind AS 20 “Accounting for Government Grants and Disclosure of 
Government Assistance”, the benefits of a government loan at a below market rate of 
interest is treated as a government grant.  The loan shall be recognized and measured in 
accordance with Ind AS 109 “Financial Instruments”.  The benefit of the below market rate 
of interest shall be measured as the difference between the initial carrying value of the loan 
determined in accordance with Ind AS 109 and the proceeds received.  The benefit is 
accounted for in accordance with Ind AS 20.  As per Ind AS 109, the loan should be initially 
measured at its fair value.   

 Initial recognition of grant as on 1st April, 20X1 

 Fair value of loan = ` 25,00,000 x 0.567 (PVF @ 12%, 5th year) = ` 14,17,500 

 A Limited will recognize ` 10,82,500 (25,00,000 – 14,17,500) as the government grant and 
will make the following entry on receipt of loan: 

Date Particulars Dr. (`) Cr. (`) 
1.4.20X1 Bank account      Dr. 25,00,000  
  To Deferred Grant Income  10,82,500 
  To Loan account  14,17,500 
 (Being grant initially recorded at fair value)   

Accounting treatment for year ending 31st March, 20X2 

As per para 3 of Ind AS 20, grants related to assets are government grants whose primary 
condition is that an entity qualifying for them should purchase, construct or otherwise 
acquire long-term assets. 

As per para 24-27 of Ind AS 20, Government grants related to assets, including non-
monetary grants at fair value, shall be presented in the balance sheet either by setting up 
the grant as deferred income or by deducting the grant in arriving at the carrying amount 
of the asset.  

One method recognises the grant as deferred income that is recognised in profit or loss on 
a systematic basis over the useful life of the asset. 

The other method deducts the grant in calculating the carrying amount of the asset.  The 
grant is recognised in profit or loss over the life of a depreciable asset as a reduced 
depreciation expense. 
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A Ltd. has adopted first method of recognising the grant as deferred income that is 
recognised in profit or loss on a systematic basis over the useful life of the asset.  Here, 
deferred income is recognised in profit or loss in the proportion in which depreciation 
expense on the asset is recognised. 

Depreciation for the year (20X1-20X2) = ` 50,00,000 / 5 years = ` 10,00,000 

As the loan is to finance a depreciable asset, ` 10,82,500 will be recognized in Profit or 
Loss on the same basis as depreciation. 

Since the depreciation is provided on straight line basis by A Limited, it will credit  
` 2,16,500 (10,82,500 / 5) equally to its statement of profit and loss over the 5 years. 

Journal Entries 

Date Particulars Dr. (`) Cr. (`) 
31.3.20X2 Depreciation (Profit or Loss A/c) Dr. 10,00,000  
  To Property, Plant & Equipment  10,00,000 
 (Being depreciation provided for the 

year) 
  

 Deferred grant income    Dr. 2,16,500  
  To Profit or Loss   2,16,500 
 (Being deferred income adjusted)   

Impact on profit or loss due to revocation of government grant as on 31st March 20X3 

As per para 32 of Ind AS 20, a government grant that becomes repayable shall be 
accounted for as a change in accounting estimate.  Repayment of a grant related to income 
shall be applied first against any unamortised deferred credit recognised in respect of the 
grant.  To the extent that the repayment exceeds any such deferred credit, or when no 
deferred credit exists, the repayment shall be recognised immediately in profit or loss.  

Amount payable to Government on account of principal loan =   ` 25,00,000  

Amount payable to Government on account of penalty    =   ` 10,00,000  

Journal Entries 

Date Particulars Dr. (`) Cr. (`) 
31.3.20X3 Deferred grant income     Dr. 2,16,500  
  To Profit or Loss   2,16,500 
 (Being deferred income adjusted)   
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Loan account (W.N.1)    Dr. 17,78,112  

 Deferred grant income (W.N.2)  Dr. 6,49,500  
 Profit or Loss      Dr. 72,388  
  To Government grant payable  25,00,000 
 (Being refund of government grant)   
 Profit or Loss       Dr. 10,00,000  
  To Government grant payable  10,00,000 
 (Being penalty payable to government)   

Therefore, total impact on profit or loss on account of revocation of government grant as 
on 31st March, 20X3 will be ` 10,72,388 (10,00,000 + 72,388). 

Circumstances giving rise to repayment of a grant related to an asset may require 
consideration to be given to the possible impairment of the new carrying amount of the 
asset. 

Working Notes: 

1. Amortisation Schedule of Loan 

Year Opening balance 
of Loan 

Interest @ 12% Closing balance 
of Loan 

31.03.20X2 14,17,500 1,70,100 15,87,600 

31.03.20X3 15,87,600 1,90,512 17,78,112 

2. Deferred Grant Income  

Year Opening balance Adjustment Closing balance 

31.03.20X2 10,82,500 2,16,500 8,66,000 

31.03.20X3 8,66,000 2,16,500 6,49,500 

5. The entity measures the loan on initial recognition at ` 4,32,000, which is the present value 
of the loan (financial liability) — ` 5,00,000/(1.05)3.  ` 68,000, the difference between the 
loan proceeds received ` 5,00,000 (the loan’s face value) and present value of the loan ` 
4,32,000, is a government grant and is recognised immediately as there are no specified 
future performance conditions.  

 The amount recognised on day one will accrete to ` 5,00,000 over the three-year term 
using the effective interest method.  
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Jodeurnal Entries  

 On initial recognition: 

 ` ` 
Cash/Bank (financial asset)    Dr. 5,00,000  

To Loan (financial liability) 
 

4,32,000 
 To Income (profit or loss)  68,000 
(Being interest-free loan recognised at fair value and the 
receipt of a government grant) 

  

At the end of  

Year 1:  

 ` ` 
Finance cost (profit or loss)        Dr. 21,600  

To Loan (financial liability) 
 

21,600 
(Being accretion of time value recognised on the financial 
liability) 

  

Year 2  

 ` ` 

Finance cost (profit or loss)          Dr. 22,680  

To Loan (financial liability) 
 

22,680 

(Being accretion of time value recognised on the financial 
liability) 

  

Year 3  

 ` ` 

Finance cost (profit or loss)             Dr. 23,720  

To Loan (financial liability) 
 

23,720 

(Being accretion of time value recognised on the financial 
liability) 
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 Immediately after all the accretions are recognised, the carrying amount of the loan is equal to its 
face value of ` 5,00,000, which is also the amount payable to the government. 

 ` ` 
Loan (financial liability)        Dr. 5,00,000  

To Cash/Bank 
 

5,00,000 
(Being loan repaid to the government)   

 Working Note: 

 Calculation of Amortised Cost 

Year Opening balance 
(A) 

Interest at 
5% 

(B) = (A) x 
5% 

Cash flow 
(C) 

Closing 
balance 

(A) + (B) – 
(C) 

1 4,32,000 21,600 – 4,53,600 
2 4,53,600 22,680 – 4,76,280 
3 4,76,280 23,720* (5,00,000) – 

 * Difference is due to approximation. 
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UNIT 3 : IND AS 102 : SHARE-BASED PAYMENT 

Questions 

1. P Ltd. granted 400 stock appreciation rights (SAR) each to 75 employees on 1st April 
20X1 with a fair value ` 200.  The terms of the award require the employee to provide 
service for four years in order to earn the award.  The fair value of each SAR at each 
reporting date is as follows: 

 31st March 20X2  ` 210 

 31st March 20X3  ` 220 

 31st March 20X4  ` 215 

 31st March 20X5  ` 218 

What would be the difference if at the end of the second year of service (i.e. at  
31st March 20X3), P Ltd. modifies the terms of the award to require only three years of 
service? 

2. QA Ltd. had on 1st April, 20X1 granted 1,000 share options each to 2,000 employees.  
The options are due to vest on 31st March, 20X4 provided the employee remains in 
employment till 31st March, 20X4. 

 On 1st April, 20X1, the Directors of Company estimated that 1,800 employees would 
qualify for the option on 31st March, 20X4.  This estimate was amended to 1,850 
employees on 31st March, 20X2 and further amended to 1,840 employees on 31st March, 
20X3.  

 On 1st April, 20X1, the fair value of an option was ` 1.20. The fair value increased to  
` 1.30 as on 31st March, 20X2 but due to challenging business conditions, the fair value 
declined thereafter.  In September, 20X2, when the fair value of an option was ` 0.90, the 
Directors repriced the option and this caused the fair value to increase to ` 1.05.  Trading 
conditions improved in the second half of the year and by 31st March, 20X3 the fair value 
of an option was ` 1.25.  QA Ltd. decided that additional cost incurred due to repricing of 
the options on 30th September, 20X2 should be spread over the remaining vesting period 
from 30th September, 20X2 to 31st March, 20X4.  

© The Institute of Chartered Accountants of India 



                                                   INDIAN ACCOUNTING STANDARD 102 7.29   PQ .29 

Suggest the suitable accounting treatment for these transaction as on 31st March, 20X3. 

3. A parent, Company P, grants 30 shares to 100 employees each of its subsidiary, 
Company S, on condition that the employees remain employed by Company S for three 
years.  Assume that at the outset, and at the end of Years 1 and 2, it is expected that all 
the employees will remain employed for all the three years.  At the end of Year 3, none of 
the employees has left.  The fair value of the shares on grant date is ` 5 per share.  
Company S agrees to reimburse Company P over the term of the arrangement for 75 
percent of the final expense recognised by Company S.   

What would be the accounting treatment in the books of Company P and Company S? 

4. An entity which follows its financial year as per the calendar year grants 1,000 share 
appreciation rights (SARs) to each of its 40 management employees as on  
1st January 20X5.  SARs provide the employees with the right to receive (at the date 
when the rights are exercised) cash equal to the appreciation in the entity’s share price 
since the grant date.  All of the rights vest on 31st December 20X6; and they can be 
exercised during 20X7 and 20X8.  Management estimates that, at grant date, the fair 
value of each SAR is ` 11; and it estimates that overall 10% of the employees will leave 
during the two-year period.  The fair values of the SARs at each year end are shown 
below: 

Year Fair value at year end 

31 December 20X5 12 

31 December 20X6 8 

31 December 20X7 13 

31 December 20X8 12  

10% of employees left before the end of 20X6.  On 31st December 20X7 (when the 
intrinsic value of each SAR was ` 10), six employees exercised their options; and the 
remaining 30 employees exercised their options at the end of 20X8 (when the intrinsic 
value of each SAR was equal to the fair value of ` 12).   

 How much expense and liability is to be recognized at the end of each year? Pass the 
Journal entries. 

5. New Age Technology Limited has entered into following Share Based payment 
transactions: 
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(i) On 1st April, 20X1, New Age Technology Limited decided to grant share options to 
its employees.  The scheme was approved by the employees on 30th June, 20X1.  
New Age Technology Limited determined the fair value of the share options to be 
the value of the equity shares on 1st April, 20X1. 

(ii) On 1st April, 20X1, New Age Technology Limited entered into a contract to 
purchase IT equipment from Bombay Software Limited and agreed that the 
contract will be settled by issuing equity instruments of New Age Technology 
Limited.  New Age Technology Limited received the IT equipment on 30th July, 
20X1.  The share-based payment transaction was measured based on the fair 
value of the equity instruments as on 1st April, 20X1. 

(iii) On 1st April, 20X1, New Age Technology Limited decided to grant the share options 
to its employees.  The scheme was approved by the employees on 30th June, 
20X1.  The issue of the share options was however subject to the same being 
approved by the shareholders in a general meeting.  The scheme was approved in 
the general meeting held on 30th September, 20X1.  The fair value of the equity 
instruments for measuring the share-based payment transaction was taken on 30th 
September, 20X1. 

Identify the grant date and measurement date in all the 3 cases of Share based payment 
transactions entered into by New Age Technology Limited, supported by appropriate 
rationale for the determination? 

6. The following particulars in respect of stock options granted by a company are available: 

No. of Employees covered  400 Nominal Value per share ` 100 
No. of options per Employee 60 Exercise price per share ` 125 

 Shares offered were put in three groups. Group 1 was for 20% of shares offered with 
vesting period one-year. Group II was for 40% of shares offered with vesting period two-
years. Group III was for 40% of shares offered with vesting period three-years. Fair value 
of option per share on grant date was ` 10 for Group I, ` 12.50 for Group II and ` 14 for 
Group III. 

Position on 1st Year Position on 2nd Year Position on 3rd Year 
-  No. of employees left  
 = 40 

-  Employees left = 35 -  Employees left = 28 

-  Estimate of employees 
to leave in Year 2 = 36 

-  Estimate of employees to 
leave in Year 3 = 30 

-  Employees exercising 
Options in Group III = 
295 

-  Estimate of employees 
to leave in Year 3 = 34 

-  Employees exercising 
Options in Group II = 319 
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-  Employees exercising 
Options in Group I  
= 350 

    

 Options not exercised immediately on vesting, were forfeited. Compute expenses to 
recognise in each year and show important accounts in the books of the company. 

7. Entity A runs a copper-mining business.  Entity A has a year-end of 31st March.  
Dividends declared on the shares accrue to the employees during the three-year period.  
If the condition is met, the employees will receive the shares together with the dividends 
that have been declared on those shares during the three years upto 31st March, 20X3. 

 The entity estimates that on 1st April, 20X0 its shares are valued at ` 10 each.  The grant 
date fair amount of each share is ` 10. 

 Entity A prepares annual financial statements for the year ended 31st March and: 

♦ on 1st April, 20X0 it estimates that 800 shares will vest; 

♦ at the end of the first year (31st March, 20X1) it has revised this estimate to 780; 

♦ at 31st March, 20X2 it has further revised this estimate to 750; and 

♦ 750 shares vest on 31st March, 20X3 based on the number of employees still 
employed on that date. 

 On 1st April, 20X0 as part of a long-term incentive scheme, Entity A provisionally awards 
its sales employees 1,000 Entity A’s shares receivable on 31st March, 20X3.  Explain the 
accounting treatment for the above share-based awards based on satisfaction of the 
condition that the sales employees must remain in employment until 31st March, 20X3.  
The requirement to remain in employment is a service condition and would not be 
reflected in the fair value of the share awards.   

8. Fashion India Ltd. (FIL) entered into an agreement with RFD Ltd. on 10th August, 20X2 for 
purchasing a machinery.  The agreement has a clause that FIL will have to settle the 
consideration of machinery purchased by issuing its equity shares.  FIL agreed to the 
clause and the order was confirmed.  Machinery was supplied vide invoice dated  
25th October, 20X2 and delivered on 1st November, 20X2.  The agreed purchase 
consideration was ` 150 Lakhs and the fair value of the machinery supplied was 
estimated to be ` 160 Lakhs.  As agreed, FIL issued 1,00,000 equity shares of face value 
` 100 each to RFD Ltd. 

As per Ind AS 102 ‘Share Based Payment’, what should be the price and the date for 
recording the machinery purchased from RFD Ltd.? 
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Answers 

1. Journal entries in the books of P Ltd (without modification of service period of 
stock appreciation rights)              (` in lakhs)  

Date Particulars Debit Credit 
31.03.20X2 Profit and Loss account     Dr. 

 To Liability against SARs 
(Being expenses liability for stock appreciation 
rights recognised) 

15.75  
15.75 

31.03.20X3 Profit and Loss account     Dr. 
 To Liability for SARs 
(Being expenses liability for stock appreciation 
rights recognised) 

17.25  
17.25 

31.03.20X4 Profit and Loss account     Dr. 
 To Liability for SARs 
(Being expenses liability for stock appreciation 
rights recognised) 

15.38  
15.38 

31.03.20X5 Profit and Loss account     Dr. 
 To Liability for SARs 
(Being expenses liability for stock appreciation 
rights recognised) 

17.02  
17.02 

Journal entries in the books of P Ltd (with modification of service period of stock 
appreciation rights)            (` in lakhs) 

Date Particulars Debit Credit 
31.03.20X2 Profit and Loss account    Dr. 

 To Liability for SARs 
(Being expenses liability for stock appreciation 
rights recognised) 

15.75  

15.75 

31.03.20X3 Profit and Loss account    Dr. 
 To Liability for SARs 
(Being expenses liability for stock appreciation 
rights recognised) 

28.25  

28.25 

31.03.20X4 Profit and Loss account    Dr. 
 To Liability for SARs 
(Being expenses liability for stock appreciation 
rights recognised) 

20.50  

20.50 
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Working Notes: 
Calculation of expenses for issue of stock appreciation rights without modification 
of service period   

 For the year ended 31st March 20X2 

 = ` 210 x 400 awards x 75 employees x 1 year /4 years of service = ` 15,75,000  

 For the year ended 31st March 20X3 

 = ` 220 x 400 awards x 75 employees x 2 years /4 years of service - ` 15,75,000 
previous recognised  

 = ` 33,00,000 - ` 15,75,000 = ` 17,25,000  

 For the year ended 31st March 20X4  

 = ` 215 x 400 awards x 75 employees x 3 years/4 years of service - ` 33,00,000   
 previously recognised  

 = ` 48,37,500 - ` 33,00,000 = ` 15,37,500  

 For the year ended 31st March, 20X5  

 = ` 218 x 400 awards x 75 employees x 4 years / 4 years of service –  
` 48,37,500 previously recognised  

 = ` 65,40,000 – ` 48,37,500 = ` 17,02,500 

Calculation of expenses for issue of stock appreciation rights with modification of 
service period   

For the year ended 31st March 20X2  

 = ` 210 x 400 awards x 75 employees x 1 year / 4 years of service = ` 15,75,000  

For the year ended 31st March 20X3  

 = ` 220 x 400 awards x 75 employees x 2 years / 3 years of service -  
` 15,75,000 previous recognised  

 = ` 44,00,000 - ` 15,75,000 = ` 28,25,000  

For the year ended 31st March 20X4  

 = ` 215 x 400 awards x 75 employees x 3 years/ 3 years of service - ` 44,00,000 
previous recognised  

 = ` 64,50,000 - ` 44,00,000 = ` 20,50,000. 
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2. Paragraph 27 of Ind AS 102 requires the entity to recognise the effects of repricing that 
increase the total fair value of the share-based payment arrangement or are otherwise 
beneficial to the employee.  

If the repricing increases the fair value of the equity instruments granted paragraph 
B43(a) of Appendix B requires the entity to include the incremental fair value granted (ie 
the difference between the fair value of the repriced equity instrument and that of the 
original equity instrument, both estimated as at the date of the modification) in the 
measurement of the amount recognised for services received as consideration for the 
equity instruments granted.  

If the repricing occurs during the vesting period, the incremental fair value granted is 
included in the measurement of the amount recognised for services received over the 
period from the repricing date until the date when the repriced equity instruments vest, in 
addition to the amount based on the grant date fair value of the original equity 
instruments, which is recognised over the remainder of the original vesting period. 

Accordingly, the amounts recognised in years 1 and 2 are as follows: 

Year Calculation Compensation 
expense for 

period 

Cumulative 
compensation 

expense   
` ` 

1 [1,850 employees x 1,000 options x  
` 1.20] x 1/3 

7,40,000 7,40,000 

2 (1,840 employees x 1,000 options x  
[(` 1.20 x 2/3) + {(` 1.05 - 0.90) x 0.5/1.5}] 
– 7,40,000 

8,24,000 15,64,000 

Note: Year 3 calculations have not been provided as it was not required in the question. 
3.  Company S expects to recognise an expense totalling ` 15,000 (30 shares x 100 

employees x ` 5 per share) and, therefore, expects the total reimbursement to be  
` 11,250 (` 15,000 x 75%).  Company S therefore reimburses Company P ` 3,750  
(` 11,250 x 1/3) each year. 
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Accounting by Company S 

In each of Years 1 to 3, Company S recognises an expense in profit or loss, the cash paid 
to Company P, and the balance of the capital contribution it has received from  
Company P. 

       Journal Entry        ` 

Employee benefits expenses        Dr. 5,000  

 To Cash/Bank  3,750 

 To Equity (Contribution from the parent)  1,250 

(To recognise the share-based payment expense and partial 
reimbursement to parent)   

Accounting by Company P 

In each of Years 1 to 3, Company P recognises an increase in equity for the instruments 
being granted, the cash reimbursed by Company S, and the balance as investment for the 
capital contribution it has made to Company S. 

       Journal Entry         ` 

Investment in Company S       Dr.  1,250  
Cash/Bank          Dr.   3,750  

 To Equity   5,000 

(To recognise the grant of equity instruments to employees of 
subsidiary less partial reimbursement from subsidiary)   

4. The amount recognized as an expense in each year and as a liability at each year-end) is 
as follows: 

Year Expense 
` 

Liability 
` 

Calculation of 
Liability 

31 December 20X5 2,16,000 2,16,000 = 36 x 1,000 x 12 x ½ 

31 December 20X6 72,000 2,88,000 = 36 x 1,000 x 8 

31 December 20X7 1,62,000* 3,90,000 = 30 x 1,000 x 13 

31 December 20X8 (30,000)** 0 Liability extinguished 
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* Expense comprises an increase in the liability of ` 102,000 and cash paid to those 
exercising their SARs of ` 60,000 (6 x 1,000 x 10). 

** Difference of opening liability (` 3,90,000) and actual liability paid [` 3,60,000 (30 x 
1,000 x 12)] is recognised to Profit and loss ie ` 30,000. 

Journal Entries 

31 December 20X5 

Employee benefits expenses Dr. 
 

2,16,000 
 

 To Share-based payment liability   
 

2,16,000 
(Fair value of the SAR recognized) 

   

31 December 20X6 
Employee benefits expenses Dr. 

 
72,000 

 

 To Share-based payment liability   
 

72,000 
(Fair value of the SAR re-measured) 

   

31 December 20X7 
Employee benefits expenses Dr. 

 
1,62,000 

 

 To Share-based payment liability   
 

1,62,000 
(Fair value of the SAR recognized) 

   

Share-based payment liability  Dr. 
 

60,000 
 

 
To Cash 

    
60,000 

(Settlement of SAR) 
     

31 December 20X8 

Share-based payment liability    Dr.  30,000  
 To Employee benefits expenses     30,000 
(Fair value of the SAR recognized)      

Share-based payment liability   Dr.  3,60,000  
 To Cash     3,60,000 
(Settlement of SAR)      

 Note:  Last two entries can be combined. 
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5. Ind AS 102 defines grant date and measurement dates as follows: 

(a) Grant date: The date at which the entity and another party (including an 
employee) agree to a share-based payment arrangement, being when the entity 
and the counterparty have a shared understanding of the terms and conditions of 
the arrangement.  At grant date the entity confers on the counterparty the right to 
cash, other assets, or equity instruments of the entity, provided the specified 
vesting conditions, if any, are met.  If that agreement is subject to an approval 
process (for example, by shareholders), grant date is the date when that approval 
is obtained. 

(b) Measurement date: The date at which the fair value of the equity instruments 
granted is measured for the purposes of this Ind AS.  For transactions with 
employees and others providing similar services, the measurement date is grant 
date.  For transactions with parties other than employees (and those providing 
similar services), the measurement date is the date the entity obtains the goods or 
the counterparty renders service. 

Applying the above definitions in the given scenarios following would be the conclusion 
based on the assumption that the approvals have been received prospectively: 

Scenario Grant date Measurement 
date 

Base for grant 
date 

Base for 
measurement 
date 

(i) 30th June, 20X1 30th June, 20X1 The date on 
which the scheme 
was approved by 
the employees  

For employees, 
the measurement 
date is grant date 

(ii) 1st April, 20X1 30th July, 20X1 The date when 
the entity and the 
counterparty 
entered a 
contract and 
agreed for 
settlement by 
equity 
instruments 

The date when 
the entity obtains 
the goods from 
the counterparty  

(iii) 30th September, 
20X1 

30th September, 
20X1 

The date when 
the approval by 
shareholders was 
obtained 

For employees, 
the measurement 
date is grant date 
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6. Total number of Options per employee = 60 

Group I - 20% vesting in Year 
1 

Group II - 40% vesting in 
Year 2 

Group III - 40% vesting 
in Yr. 3 

= 12 options, Vesting period = 
1 Yr. 

= 24 options, Vesting period 
= 2 Yrs. 

= 24 options, Vesting 
pd. = 3 Yrs. 

Computation of Expenses for all the years 
Group = No. of 
Options 

Group I = 
12 
Options 

Group II = 24 Options Group III = 24 Options 

  Year 1 Year 1 Year 2 Year 1 Year 2 Year 3 
(a)  Employees at 

year end = 
[Opening 

400 - 40 = 400 - 40 = 360 - 35 = 400 - 40 = 360 - 35 = 325 - 28 = 

 No. of 
Employees - 
Forfeiture] 

360 360 325 360 325 297 

(b)  Expected to 
leave in future 

NA 36 NA 36 + 34 = 
70 

30 NA 

(c)  No. of 
employees 
eligible (a - b) 

360 324 325 290 295 297 

(d)  Options 
expected to 
Vest = 

(360 x 12 
sh.) 

(324 x 24 
sh.) 

(325 x 24 
sh.) 

(290 x 24 
sh.) 

(295 x 24 
sh.) 

(297 x 24 
sh.) 

 [(c) x No. of 
Shares] 

4,320 7,776 7,800 6,960 7,080 7,128 

(e)  FV per option 
= 

` 10 ` 12.50 ` 12.50 ` 14 ` 14 ` 14 

(f)  Value of Total 
Options = [d x 
e] 

` 43,200 ` 97,200 ` 97,500 `97,440 `99,120 ` 99,792 

(g)  Total 
Cumulative 
Cost of 
Options 

  [(f) x 1/2] [(f) x 2/2] [(f) x 1/3] [(f) x 2/3] [(f) x 3/3] 

 = [(f) x 
Completed 
Yrs/ Total Yrs) 

` 43,200 ` 48,600 ` 97,500 `32,480 `66,080 ` 99,792 

(h) Less: 
Recognized in 
last years 

0 0 ` 48,600 0 `32,480 ` 66,080 
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(i)  Expenses to 
be 
recognized 

` 43,200 ` 48,600 ` 48,900 `32,480 `33,600 ` 33,712 

(j)  Employees 
not 
exercising 
ESOP 

10 
Employees 

325 - 319 = 6 
Employees 

297 - 295 = 2 Employees 

(k)  Total 
Expenses 
for-  

 Year 1 

 
 
 
` 43,200 (Gr. 1) + ` 48,600 (Gr. 2) + ` 32,480 (Gr. 3) = ` 1,24,280 

 Year 2 ` 48,900 (Gr. 2) + ` 33,600 (Gr. 3) = ` 82,500 
 Year 3 ` 33,712 (Gr. 3 only) 

 
Employees Benefit Expenses A/c 

  Year 1    
 `   ` 
To Share-based Payment 
Reserve A/c 1,24,280 By Profit and Loss A/c  1,24,280 

  1,24,280    1,24,280 
    Year 2       
To Share-based Payment 
Reserve A/c 82,500 By Profit and Loss A/c  82,500 

  82,500    82,500 

  Year 3    
To Share-based Payment 
Reserve A/c 33,712 By Profit and Loss A/c  33,712 

  33,712    33,712 
Share-based Payment Reserve A/c 

  Year 1    
  `  ` 
To Retained 
Earnings   1,200 

By Employees Benefit 
Expenses A/c 1,24,280 

  [(360 - 350) Emp x 12 
Options x ` 10]  

By Bank A/c. (350 Emp x 12 
Options x ` 125) 5,25,000 

To Share Capital (350 Emp x 
12 Options x ` 100) 4,20,000     
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To Securities Premium (350 
Emp x 12 Options x ` 35) 1,47,000     
To balance c/d  81,080     
  6,49,280    6,49,280 

  Year 2    
To Retained 
Earnings   1,800 By balance b/d.  81,080 
  [(325 - 319) Emp x 24 
Options x ` 12.50]  

By Employees Benefit 
Expenses A/c 82,500 

To Share Capital (319 Emp x 
24 Options x ` 100) 7,65,600 

By Bank A/c. (319 Emp x 24 
Options x ` 125) 9,57,000 

To Securities 
Premium   2,87,100     
    (319 Emp x 24 Options x  
     ` 37.50)      
To balance c/d  66,080     
  11,20,580    11,20,580 

  Year 3    
To Retained 
Earnings   672 By balance b/d.  66,080 
   [(297 - 295) Emp x 24 
Options x ` 14]  

By Employees Benefit 
Expenses A/c 33,712 

To Share Capital (295 Emp x 
24 Options x ` 100) 7,08,000 

By Bank A/c. (295 Emp x 24 
Options x ` 125) 8,85,000 

To Securities Premium (295 
Emp x 24 Options x ` 39) 2,76,120     
  9,84,792    9,84,792 

  Working Note:  

Calculation of Securities Premium    

 Group I Group II Group III 

 Year 1 Year 2 Year 3 

Exercise Price received per share 125.00 125.00 125.00 

Value of service received per share, being the 
FV of the Options     10.00    12.50    14.00 
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Total Consideration received per share 135.00 137.50 139.00 

Less: Nominal Value per share (100.00) (100.00) (100.00) 

Securities Premium per share     35.00     37.50     39.00 

7. The grant date fair value amount would be recognised as an expense over the three year 
service period adjusted by the number of shares expected to vest.  Consequently, for 
each period, Entity A estimates how many eligible employees are expected to be 
employed on 31st March, 20X3 and this forms the basis for that adjustment.  The journal 
entries would be: 

Year 1 (Year ended 31st March, 20X1) 

 Employee benefit expenses A/c   Dr. ` 2,600 

  To Share-based payment reserve      ` 2,600 

 (To recognise the receipt of employee services in exchange for shares) 

Year 2 (Year ended 31st March, 20X2) 

 Employee benefit expenses A/c   Dr. ` 2,400 

  To Share-based payment reserve      ` 2,400 

 (To recognise the receipt of employee services in exchange for shares) 

Year 3 (Year ended 31st March, 20X3) 

 Employee benefit expenses A/c   Dr. ` 2,500 

  To Share-based payment reserve      ` 2,500 

 (To recognise the receipt of employee services in exchange for shares) 

Working Notes: 

1. Year 1 

 780 shares expected to vest x ` 10 grant date fair value of each share x 1/3 of 
vesting period elapsed = ` 2,600 recognised in Year 1. 

2. Year 2 

 (750 shares expected to vest x ` 10 grant date fair value of each share x 2/3 of 
vesting period elapsed) less ` 2,600 recognised in Year 1 = ` 2,400 recognised in 
Year 2. 

3. Year 3 

 (750 shares x ` 10 grant date fair value of each share) less ` 5,000 recognised in 
Years 1 and 2 = ` 2,500 recognised in Year 3. 
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8. As per para 10 of Ind AS 102, for equity settled share-based payment transactions, the 
entity shall measure the goods or services received, and the corresponding increase in 
equity, directly, at the fair value of the goods or services received, unless that fair value 
cannot be estimated reliably.  If the entity cannot estimate reliably the fair value of the 
goods or services received, the entity shall measure their value, and the corresponding 
increase in equity, indirectly, by reference to the fair value of the equity instruments 
granted.  Here, since the fair value of the asset received can be estimated reliably, the 
price for recording the machinery would be ` 160 lakhs. 

Further, as per para 7 of Ind AS 102, the control is assumed to be transferred on the date 
the delivery is received which is  
1st November, 20X2.  Therefore, this will be the date for recognizing the machinery in the 
books. 

Property, plant and equipment   Dr.  ` 160 lakhs  

To Equity share capital        ` 100 lakhs 

To Securities premium        ` 60 lakhs 
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CHAPTER-11: ACCOUNTING AND REPORTING OF  
FINANCIAL INSTRUMENTS 

Questions 
1. On 1st April, 2X01, Entity X issued a 10% convertible debenture with a face value of  

` 1,000 maturing on 31st March, 2X11.  The debenture is convertible into ordinary shares 
of Entity X at a conversion price of ` 50 per share.  Interest is payable yearly in cash.  On 
1st April, 2X02, to induce the holder to convert the convertible debenture promptly, Entity 
X reduces the conversion price to ` 40 if the debenture is converted before  
1st June, 2X02 (ie, within 60 days).  The market price of Entity X’s ordinary shares on the 
date the terms are amended is ` 80 per share.  How will the revised terms be accounted? 

2. ABC Ltd. issues 4% 1,00,000 OCPS at a face value of ` 100 per share on 1st April, 20X1 
and these are redeemable after 5 years, ie, on 31st March, 20X6.  Dividend is non- 
cumulative.  Each preference shares entitles the holders to 10 equity shares and the 
preference shares are optionally convertible by the holder at any time until maturity. 

 How will the preference shares be classified at initial recognition assuming that a 
comparable instrument carries a market interest rate of 7%?  Provide journal entries for 
year 1.  Will this classification be changed subsequently in case there is likelihood that 
OCPS will be encashed at the end of the maturity period? 

3. State whether the following items meet the definition of Financial Asset or Financial 
Liability for an entity: 

 (i) A bank advances an entity a five-year loan.  The bank also provides the entity with an 
overdraft facility for a number of years. 

(ii) Entity A owns preference shares in Entity B.  The preference shares entitle Entity 
A to dividends, but not to any voting rights. 

(iii) An entity has a present obligation in respect of income tax due for the prior year. 

(iv) In a lawsuit brought against an entity, a group of people is seeking compensation 
for damage to their health as a result of land contamination believed to be caused 
by waste from the entity’s production process.  It is unclear whether the entity is 
the source of the contamination since many entities operate in the same area and 
produce similar waste. 
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4. In an arm’s length transaction, Entity X buys 10,000 convertible preference shares in 
Company Z for cash payments of ` 40,000, with ` 25,000 payable immediately and  
` 15,000 payable in two years.  The market rate of annual interest for a two-year loan to 
the entity would be 6%. 

 Explain the accounting treatment for the said transaction. 

5. SEL has applied for a term loan from a bank for business purposes.  As per the loan 
agreement, the loan required a personal guarantee of one of the directors of SEL to be 
executed.  In case of default by SEL, the director will be required to compensate for the 
loss that bank incurs.  Mr. Pure Joy, one of the directors had given guarantee to the bank 
pursuant to which the loan was sanctioned to SEL.  SEL does not pay premium or fees to 
its director for providing this financial guarantee. 

 Whether SEL is required to account for the financial guarantee received from its director?  
Will there be any disclosures under Ind AS 24? 

6. On 1st April, 20X1, a bank provides an entity with a four-year loan of ` 5,000 on normal 
market terms, including charging interest at a fixed rate of 8% per year.  Interest is 
payable at the end of each year.  The figure of 8% is the market rate for similar four-year 
fixed-interest loans with interest paid annually in arrears.  Transaction cost of ` 100 is 
incurred on originating the loan.  Effective interest rate in this case is 8.612%. 

 In 20X1-20X2, the entity experienced financial difficulties.  On 31st March, 20X2, the bank 
agreed to modify the terms of the loan.  Under the new terms, the interest payments in 
20X2-20X3 to 20X4-20X5 will be reduced from 8% to 5%.  The entity paid the bank a fee 
of ` 50 for paperwork relating to the modification.  

 Analyse whether the modification of the loan terms constitutes an extinguishment of the 
original financial liability or not. 

Answers 
1. The fair value of the incremental consideration paid by Entity X is calculated as follows: 

Number of ordinary shares to be issued to debenture holders under amended 
terms 

Particulars 

Face value   ` 1,000 

New conversion price  ` 40 per share 

Number of ordinary shares to be issued to 1,000 / ` 40  25 
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debenture holders under amended terms  Shares 

Number of ordinary shares to be issued to debenture holders under original 
terms 

Face value   ` 1,000 

Original conversion price  ` 50 per share 

Number of ordinary shares to be issued to 
debenture holders under original terms  

1,000 / ` 50  20 
Shares 

Number of additional shares to be issued to 
debenture holders under amended terms 

  5 Shares 

Value of additional shares upon conversion (to be recognised as loss in P&L) 

5 shares x ` 80 per share   ` 400 

2. The OCPS is redeemable at the end of the 5th year.  Hence, the preference share 
contains a liability component.  Further the dividend payable on the preference shares is 
non-cumulative.  The holder may also be able to convert the preference shares at his 
option any time until maturity. 

 Paragraph AG 37 of Ind AS 32, Financial Instruments: Presentation states that non-
cumulative dividends paid at the discretion of the issuer entity is part of equity element. 

 Paragraph 29 of Ind AS 32, Financial Instruments: Presentation, requires separate 
recognition of components of a financial instrument that (a) creates a financial liability of 
the entity; and (b) grants an option to the holder of the instrument to convert it into fixed 
number of equity instruments of the entity. 

 From the above paragraphs it is clear that OCPS issued by ABC Ltd. has a financial 
liability component as well as an equity component, making it a compound financial 
instrument. 

 As per paragraph 32, in case of compound financial instruments, the issuer first 
determines the carrying amount of the financial liability component by measuring the fair 
value of a similar liability that does not have an associated equity component.  The 
carrying amount of the equity represented by (a) non-cumulative dividend feature and (b) 
option to convert the preference shares for fixed number of pre-determined ordinary 
shares is then determined by deducting the fair value of the financial liability component 
from the fair value of the compound financial instrument as a whole. 

 Measurement and recognition (Calculations have been done at full scale): 

 At 7% market rate of interest, the fair value of the financial liability component of the OCPS 
is ` 71,29,862 [100,000 OCPS x ` 100 x (1/ (1+7%))5] 
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 The fair value of the equity component is (residual value) ` 28,70,138 [` 1,00,00,000 -  
` 71,29,862] 

Journal Entries 

1st April, 
20X1 

On Initial recognition    

 Bank Dr. 1,00,00,000  

  To OCPS (Financial liability)   71,29,862 

  To OCPS (Equity)   28,70,138 

 (Being OCPS issued and recognised)    

31st 
March, 
20X2 

Interest expense – unwinding of 
discount 

   

 Interest expense@7% (Refer W.N.) Dr. 4,99,090  

  To OCPS (Financial liability)   4,99,090 

 (Being interest recorded as per EIR)    

 Interest entry will be passed every 
year till conversion option is not 
exercised 

   

 Whenever the option is exercised by 
the holder to convert to equity 
shares 

   

 OCPS (Financial liability) Dr. Balance on date of exercise 
of the option   To OCPS (Equity)  

 As per paragraph 30, in case of a convertible financial instrument, the classification of the 
liability and equity components is not revised as a result of change in the likelihood that a 
conversion option will be exercised.  

 In other words, the amount attributable to equity component on initial recognition shall 
remain in equity and will not be reclassified even if the OCPS are ultimately redeemed in 
cash by the issuer. 
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31st March, 20X6 If redeemed in cash on maturity    

 OCPS (financial liability) (Refer W.N.) Dr. 1,00,00,000  

  To Bank   1,00,00,000 

 (Being OCPS redeemed on maturity)    

 Working Note: 

 Calculation of the amortised cost of the financial liability (at full scale): 

Year Opening Balance (`) Interest @ 7%  Repayment Closing Balance (`) 

1 71,29,862 4,99,090 - 76,28,952 

2 76,28,952 5,34,027  81,62,979 

3 81,62,979 5,71,409  87,34,388 

4 87,34,388 6,11,407  93,45,795 

5 93,45,795 6,54,206 10,000,000 - 

3. (i) The entity has two financial liabilities namely (a) the obligation to repay the five-year loan 
and (b) the obligation to repay the bank overdraft to the extent that it has borrowed using 
the overdraft facility.  Both the loan and the overdraft result in contractual obligations for 
the entity to pay cash to the bank for the interest incurred and for the return of the 
principal. 

(ii) For Entity B:  The preference shares may be equity instruments or financial 
liabilities of Entity B, depending on their terms and conditions.   

 For Entity A:  Irrespective of Entity B’s treatment, the preference shares are a 
financial asset because the investment satisfies the definition of a financial asset.  

(iii) An income tax liability is created as a result of statutory requirements imposed by 
the government.  The rights and obligations are not created by a contract.  Hence, 
the liability for income-tax dues is not a financial liability.  

(iv) The fact that a lawsuit may result in the payment of cash does not create a 
financial liability for the entity because there is no contract between the entity and 
the affected group.  The entity will need to consider providing for the payment as 
per Ind AS 37 ‘Provisions, Contingent Liabilities and Contingent Assets’. 

4. Since payment of ` 15,000 is deferred for two years, the fair value of the consideration 
given for the shares is equal to ` 25,000 plus the present value of ` 15,000.  The present 
value of ` 15,000 deferred payment is ` 13,350 (` 15,000 ÷ 1.062). 
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Entity X will initially measure the shares purchased at ` 38,350 (i.e., ` 25,000 +  
` 13,350). 

 Since this transaction took place at an arm’s length, this is considered to be fair value for 
initial recognition in the absence of evidence to the contrary.  

 The difference between the ` 40,000 cash paid out and the ` 38,350, i.e. ` 1,650, will be 
recognised as interest expense in profit or loss over the two-year period of deferred 
payment. 

5. Ind AS 109 ‘Financial Instruments’, defines a financial guarantee contract as ‘a contract that 
requires the issuer to make specified payments to reimburse the holder for a loss it incurs 
because a specified debtor fails to make payment when due in accordance with the original 
or modified terms of a debt instrument. 

 Based on this definition, an evaluation is required to be done to ascertain whether the 
contract between director and Bank qualifies as a financial guarantee contract as defined 
in Appendix A to Ind AS 109.  In the given case, it does qualify as a financial guarantee 
contract as: 

• the reference obligation is a debt instrument (term loan); 

• the holder i.e. Bank is compensated only for a loss that it incurs (arising on 
account of non-repayment); and 

• the holder is not compensated for more than the actual loss incurred. 

 Ind AS 109 provides principles for accounting by the issuer of the guarantee.  However, it 
does not specifically address the accounting for financial guarantees by the beneficiary.  
In an arm’s length transaction between unrelated parties, the beneficiary of the financial 
guarantee would recognise the guarantee fee or premium paid as an expense. 

 It is also pertinent to note that the entity needs to exercise judgment in assessing the 
substance of the transaction taking into consideration relevant facts and circumstances, 
for example, whether the director is being compensated otherwise for providing 
guarantee.  Based on such an assessment, an appropriate accounting treatment based 
on the principles of Ind AS should be followed. 

 In the given case, SEL is the beneficiary of the financial guarantee and it does not pay a 
premium or fees to its director for providing this financial guarantee.  Accordingly, SEL 
will not be required to account for such financial guarantee in its financial statements 
considering the unit of account as being the guaranteed loan, in which case the fair value 
would be expected to be the face value of the loan proceeds that SEL received.   
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 In the given case based on the limited facts provided, SEL will be required to make 
necessary disclosures of such financial guarantee in accordance with Ind AS 24 as 
follows:  

(a) the amount of the transactions; 

(b) the amount of outstanding balances, including commitments, and: 

(i)  their terms and conditions, including whether they are secured, and the 
nature of the consideration to be provided in settlement; and 

(ii)  details of any guarantees given or received; 

(c) provisions for doubtful debts related to the amount of outstanding balances; and 

(d) the expense recognised during the period in respect of bad or doubtful debts due 
from related parties. 

6. Since the interest was initially set at the market rate, on 1st April, 20X1 the entity on initial 
recognition will measure the loan at the transaction price, less transaction costs i.e. at  
` 4,900. 

 The following is the original amortised cost calculation at 1st April, 20X1: 

Time  Carrying 
amount at 

1st April 

Effective 
Interest @ 

8.612% 

Cash 
outflow  

Carrying amount 
at 31st March 

 (a) (b=ax8.612%) (c=5000x8%) (d = a + b - c) 

20X1-20X2 4,900.00 421.99 (400.00) 4,921.99 

20X2-20X3 4,921.99 423.88 (400.00) 4,945.87 

20X3-20X4 4,945.87 425.94 (400.00) 4,971.81 

20X4-20X5 4,971.81 428.19 (5,400.00) – 

 At 31st March, 20X2: 

1. The present value of the remaining cash flows of the original financial liability is  
` 4,921.99 discounted at the original effective interest rate of 8.612%. 

2. The present value of the cash flows under the new terms discounted using the 
original effective interest rate is ` 4,537.25 (Refer W.N.).  Including the ` 50 fee, 
the present value of the total cash flows is ` 4,587.25. 
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3. The difference between ` 4,921.99 and ` 4,587.25 is ` 334.74 which is only 6.8% 
(` 334.74 ÷ ` 4,921.99) of the present value of the remaining cash flows of the 
original financial liability. 

 The entity applies its judgement to decide whether the terms of the instruments 
exchanged are substantially different.  Since the difference of the discounted present 
value of the cash flows under the new terms, including any fees paid net of any fees 
received and discounted using the original effective interest rate, is less than 10% of the 
present value of the remaining cash flows of the original financial liability, this 
modification should not be considered a substantial modification of the terms of the 
existing loan.  Therefore, the modification would not be accounted for as an 
extinguishment of the original financial liability. 

 Working Note: 

 The calculation of the present value of the cash flows under the new terms discounted 
using the original effective interest rate is as follows: 

Time  Cash 
outflow 

Discounting factor 
@ 8.612% 

Present value at  
31st March 

31st March, 20X3 250.00 0.921 230.25 
31st March, 20X4 250.00 0.848 212.00 
31st March, 20X5 5,250.00 0.780 4,095.00 
Total present value 4,537.25 
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ACROSS: 

1. A financial asset is any asset that is cash, equity, or a contractual _______ to receive 
cash or another financial asset. (5)  

3. Ind AS 32 specifies that treasury shares should be deducted from ____. (6)  

7. An entity shall recognise a financial asset or a financial liability in its balance sheet when, 
and only when, the entity becomes _________  to the contractual provisions of the 
instrument. (5) 

8. _________ items are units of currency held and assets and liabilities to be received or 
paid in a fixed or determinable number of units of currency. (8) 

12. Biological __________ encompasses the processes of growth, degeneration, production, 
and procreation, which result in qualitative and quantitative changes in biological assets. 
(14)  

16. An entity shall ___________ a financial liability from its balance sheet when the obligation 
specified in the contract is discharged. (6)  

18. An entity shall not reclassify any financial _____________. (9)  

19. _________ is an entity's obligation to transfer goods or services to a customer for which 
the consideration is received or due from the customer. (8,9)  

22. The objective of the ______ requirements in Ind AS 109 is to recognize lifetime expected 
credit losses for all financial instruments for which there have been significant increases 
in credit risk since initial recognition. (10)  

23. A _________ of goods and services exists if a contract with a customer has more than 
one performance obligation. (6)  

24. Ind AS 20 provides criteria for recognizing government grants at fair value, including 
when there is ___________ assurance that the entity will comply with the conditions and 
when the grant will be received. (10) 

25. For cash-settled share-based payments, the liability is measured at _______ value. (4)  

26. Share-based payment reserve is the ___________ amount recognized as equity in the 
balance sheet to reflect the fair value of equity instruments granted. (11)  
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27. Produce growing on a bearer plant is classified as a _________ assets until it is 
harvested. (10)  

29. Ind 32 states that the ___________ costs of an equity transaction shall be accounted for 
as a deduction from equity. (11)  

DOWN: 

2. Interest, dividends, losses, and gains related to a financial liability are recognized in the 
________ statement. (6) 

4. The repayment of a grant should first be applied against any ________ deferred credit 
recognized in respect of the grant. (11)  

5. Agricultural Produce refers to the _______________ produce from biological assets. (9)  

6. Government grants related to assets shall be presented in the balance sheet either by 
setting up the grant as __________ or by deducting the grant in arriving at the carrying 
amount of the asset. (8,6)  

9. Variable consideration is included in the transaction price if it is not subject to significant 
___________. (8)  

10. When a share-based payment is contingent upon an employee serving a minimum period 
to become eligible, it is referred to as a _________ condition. (7)  

11. Purchased put or call options held by the entity on its own ordinary shares are __________ 
included in the calculation of diluted earnings per share. (3) 

13. If the fair value of a biological asset cannot be measured reliably, it is measured at ____. 
(4)  

14. Government grants are ________ provided by the government in the form of transfers of 
resources to an entity, contingent upon the entity's past or future compliance with specific 
conditions related to its operating activities. (10)  

15. As per Ind AS 109, a financial asset is _________ when a counterparty has failed to make 
a contractually due payment. (4,3)  

17. Entities have to consider variable ____________, such as discounts, rebates, and 
performance bonuses, when determining the transaction price. (13)  

© The Institute of Chartered Accountants of India 



(4) 
 

20. A financial instrument is a __________ that gives rise to a financial asset of one entity and 
a financial liability or equity instrument of another entity. (8) 

21. _______ produce, after the point of harvest, is covered under Ind AS 2 and not Ind AS 41. 
(11)  

23. Revenue is recognized over time if the customer simultaneously receives and consumes 
the ________ of the entity’s performance. (8)  

28. _______ date is the date on which the entity and the counterparty agree to the terms and 
conditions of the share-based payment arrangement. (5)  

 

 

To know the answer of the above Ind AS Puzzle, scan the QR Code 

 

 

© The Institute of Chartered Accountants of India 


	Ch-9  Ind AS 115 (13.11.24).pdf
	Indian Accounting Standard 115: Revenue  FROM CONTRACTS  WITH CUSTOMERS
	Learning Outcomes
	After studying this chapter, you will be able to:

	CHAPTER OVERVIEW
	1. SCOPE
	2. Definitions
	3. Overview
	4. Transition
	5. Step 1: Identifying the contract
	5.1 Criteria for recognizing a contract
	5.1.1 Criteria 1: The parties have approved the contract and are committed to perform
	5.1.2 Criteria 2: The entity can identify each party’s rights
	5.1.3 Criteria 3: The entity can identify the payment terms for the goods or services
	5.1.4 Criteria 4: The contract has commercial substance
	5.1.5. Criteria 5: It is probable the entity will collect substantially all of the consideration

	5.2 Contracts that do not pass Step 1: Reassessing the Step 1 criteria
	5.3 Contract term
	5.3.1 Termination provisions

	5.4 Combining contracts
	5.5 Contract Modifications
	5.5.1 Identifying a modification
	5.5.2 Accounting for the modification
	5.5.2.1 Modifications that constitute separate contracts
	5.5.2.2 Modifications that do not constitute separate contracts



	6. Step 2: Identifying performance obligations
	6.1 Criteria for identifying performance obligation
	6.1.1 Customer can benefit either on a stand-alone basis or with other readily available resources
	6.1.2 Separately identifiable from other promises in the contract
	6.1.2.1 Significant integration service
	6.1.2.2 Significant modification or customization
	6.1.2.3 Highly interdependent or highly interrelated

	6.2 Multiple Element Arrangements/ Goods and services that are not distinct
	6.3 Customer options for additional goods or services
	6.4 Long term arrangements
	6.5 Consignment Arrangements
	6.6 Principal vs agent consideration
	6.7 Non-refundable upfront fees

	7. Step 3: Determining the transaction price
	7.1 Variable consideration
	7.1.1  Penalties
	7.1.2 Estimating the amount of variable consideration
	7.1.3 Refund liabilities
	7.1.4 Constraining estimates of variable consideration
	7.1.5 Reassessment of variable consideration
	7.1.6 Sale with a right of return
	7.1.7 Warranties
	7.1.8 Sales-based or usage-based royalties

	7.2 Significant financing component
	7.3 Non-cash consideration
	7.3.1 Subsequent measurement of non-cash consideration
	7.3.2 Customer-provided goods or services

	7.4 Consideration payable to a customer

	8. Step 4: Allocating the transaction price to performance obligations
	8.1 Determining stand-alone selling price
	8.1.1 Allocation of a discount
	When to allocate discount to ‘less than all’ performance obligations?

	8.1.2 Allocation of variable consideration

	8.2 Changes in the transaction price

	9. STEP 5: Satisfying performance obligation
	9.1 What does transfer of control mean?
	9.2 Does the customer acquire control over a period of time or at a point in time?
	9.2.1 Transfer of control over a period of time:
	9.2.2 Transfer of control at a point in time:

	9.3 Repurchase agreements
	9.4 Bill-and-hold
	9.5 Licences of intellectual property
	9.5.1 Right to access
	9.5.2 Right to use


	10. CONTRACT COSTS
	10.1 Costs to obtain a contract (contract acquisition costs)
	Contract acquisition cost is not specifically dealt with in either in AS 7 or AS 9.  Let’s take an illustration to understand the treatment in AS 7 / AS 9 and how it is different from Ind AS:
	10.2 Costs to fulfil a contract (contract fulfilment costs)
	10.3 Amortisation and impairment

	11. presentation & disclosure
	11.1 Presentation
	11.2 Disclosure

	Disclosures  
	12. Service Concession Arrangements
	12.1 About Arrangement
	12.2 Accounting Principles
	12.2.1  Treatment of the operator’s rights over the infrastructure
	12.2.2  Recognition and measurement
	12.2.3  Consideration given by the grantor to the operator
	12.2.4 Contractual obligations to restore the infrastructure to a specified level of serviceability
	12.2.5  Borrowing costs incurred by the operator
	12.2.6  Financial asset
	12.2.7  Intangible asset
	12.2.8  Items provided to the operator by the grantor

	12.3  Service Concession Arrangements: Disclosures

	13. Extracts of financial statements of listed entity
	14. SIGNIFICANT DIFFERENCES in Ind AS 115 vis-à-vis AS 7 and AS 9
	FOR Shortcut to Ind AS Wisdom: Scan Me!
	Test Your Knowledge
	Questions
	Answers


	Ch-10 Unit 1 Ind AS 41 (30.11.24)
	Other inDIAN ACCOUNTING STANDARDs
	Unit 1:  Indian Accounting Standard 41: Agriculture
	Learning Outcomes
	1.1 Introduction and objective
	1.2 ScOPE
	1.3 Relevant definitions
	1.4 recognition of assets
	1.5 Measurement
	1.6 Gains and losses
	1.7 government grants
	1.8 disclosure
	1.9 Extracts of FINANCIAL STATEMENTS of Listed  EntitY
	FOR Shortcut to Ind AS Wisdom: Scan Me!
	Test your Knowledge
	Questions
	Answers


	Ch-10 Unit 2 IND AS 20 (30.11.24)
	UNIT 2 : Indian Accounting Standard 20: Accounting  for Government Grants and Disclosure  of Government Assistance
	Learning Outcomes
	2.1 Introduction
	2.2 Scope
	2.2.1 Applicability
	2.2.2 Non-applicability

	2.3 Definitions
	2.4 Recognition of Government Grants
	2.4.1 Forgivable loan
	2.4.2 Loans at less than market rate of interest

	2.5 Accounting of Government Grant
	2.5.1 Whether receipts basis permissible
	2.5.2 Grants related to non-depreciable assets
	2.5.3 Conditional Grants received as part of a package of financial or fiscal aids
	2.5.4 Grant for expenses or losses already incurred and grant as an immediate financial support
	2.5.5 Non-monetary government grants
	2.5.6 Government Assistance – No Specific relation to Operating Activities

	2.6 Presentation of Grants Related to Assets
	2.6.1 Presentation in the Balance Sheet
	2.6.2 Disclosure in the statement of cash flows

	2.7 Presentation of Grants Related to Income
	2.8 Repayment of Government Grants
	Illustration 10

	2.9 Disclosure
	2.10 Extracts of FINANCIAL STATEMENTS of Listed   Entities
	2.11 sIGNIFICANT DIFFERENCES BETWEEN iND as 20   AND aS 12
	FOR Shortcut to Ind AS Wisdom: Scan Me!
	Test your knowledge
	Questions
	Answers


	Ch-10 Unit 3 Ind AS 102 (5.12.24)
	uNIT 3 : Indian Accounting Standard 102 :  share-based payment
	Learning Outcomes
	3.1 Introduction
	3.2 Definition
	3.2.1 Share-based payment arrangement
	3.2.2 Share-Based Payment Transaction
	Example 5


	3.3 Scope
	3.3.1 What is covered within Ind AS 102?
	3.3.2  What is not covered in Ind AS 102?

	3.4 Recognition
	3.5 Types of Share-based payments
	3.5.1 Equity Settled- Share-Based Payments
	3.5.2 Cash Settled- Share-Based Payments
	3.5.3 Share-Based Payment Transactions with Cash Alternatives

	3.6 Determining types of conditions
	3.6.1 Vesting conditions
	a) Service condition
	b) Performance condition

	3.6.2 Non-vesting conditions

	3.7 Determining impact of conditions on Share  based valuation
	3.8 Grant date
	3.9 Subsequent Measurement
	3.9.1 Equity settled Share-Based Payment
	3.9.2 Cash-settled share-based payment

	3.10 Modification, cancellation and settlements
	3.11 Fair value calculation
	3.12 Group share-based payment plan
	3.13 Disclosure
	3.14 Extracts of FINANCIAL STATEMENTS of Listed EntitY
	FOR Shortcut to Ind AS Wisdom: Scan Me!
	Test your knowledge
	Questions
	Answers


	Ch-11 Fin. Inst. PART-I (5.12.24)
	Accounting and  reporting OF FINANCIAL instruments
	Learning Outcomes
	UNIT 1:  Financial Instruments: SCope and Definitions
	1.1 Introduction
	1.2 What are financial instruments?
	1.3 What is a financial asset?
	1.4 What is a financial liability?
	1.5 What is an equity instrument?
	1.6 Comparison of Financial Assets, Financial  liabilities and Equity
	1.7 Scope of financial instruments
	1.8 contracts to buy or sell non-financial  items  (‘own use exemption’)
	Unit 2: Classification and Measurement of Financial Assets and Financial Liabilities
	2.1 recognition and subsequent measurement
	2.2 Financial assets: key elements to determine classification
	2.3 Financial assets: classification – overall  concept
	2.4 Financial assets: measurement
	2.5 Financial assets: Initial measurement
	2.6 Financial assets: Subsequent measurement
	2.7 Financial liabilities: classification
	2.8 Financial liabilities: Measurement
	2.9 Reclassification of financial assets and financial liabilities
	2.10 Impairment
	quick recap
	Unit 3: Financial Instruments: Equity and Financial Liabilities
	3.1 Introduction
	3.2 Definitions – financial liability and equity
	Analysis of the definitions

	3.3 Obligation to deliver cash
	3.3.1 Puttable instruments and obligations arising on liquidation – Exceptions to classification as ‘financial liability’ for instruments settled in cash or another financial asset
	3.3.2 Obligation to purchase own equity instruments
	3.3.3 Contingent settlement provisions
	3.3.4 Written put options over non-controlling interests

	3.4 Settlement in entity’s own equity  instruments
	3.4.1 Settlement Options
	3.4.2 Settlement by delivery of instruments that meet conditions for exceptions to classification as financial liability
	3.4.3 Rights issues, options or warrants to acquire entity’s own equity instruments for any currency

	3.5 Compound financial instruments
	3.5.1 Split accounting for compound financial instruments
	3.5.2 Separation of non-equity embedded derivatives
	3.5.3 Conversion or early settlement of compound financial instruments
	3.5.3.1 Conversion
	3.5.3.2 Early settlement


	3.6 Treasury shares
	3.7 Interest, dividends, losses and gains
	3.8 Offsetting a financial asset and a financial  liability
	quick recap

	Ch-11 Fin. Inst. PART-II (5.12.24)
	Unit 4: Derivatives and embedded derivatives
	4.1 Introduction
	4.2 Definition
	4.2.1 Derivatives
	4.2.2 Embedded derivatives
	4.2.2.1 Separation of embedded derivatives from host contract
	4.2.2.2 Economic characteristics and risks of the embedded derivative – whether closely related to those of the host?
	4.2.2.3  Accounting for embedded derivatives


	Unit 5: Recognition and Derecognition of Financial Instruments
	5.1 Initial recognition
	5.2 Regular way purchase or sale of financial assets
	5.3 Derecognition of financial assets
	5.3.1 Accounting treatment of transfers
	5.3.1.1Transfers that qualify for derecognition
	5.3.1.2  Transfers that do not qualify for derecognition
	5.3.1.3 Continuing involvement in transferred assets (partial de-recognition)


	5.4 Derecognition of financial liabilities
	5.4.1 General principles
	5.4.1.1  Timing of derecognition
	5.4.1.2 Accounting treatment for extinguishment

	5.4.2 Exchange of financial liability instruments
	5.4.2.1  Accounting treatment
	1. Extinguishment accounting
	Working Note:
	Modification accounting

	5.4.3 Debt for equity swaps

	UNit 6: Hedge Accounting
	6.1 Introduction
	6.2 Identifying the hedged item and designation   of hedged items
	6.3 Qualifying instruments for hedge   accounting and designation of hedging   instruments
	6.4 Qualifying criteria for hedge accounting
	6.5 Accounting for qualifying hedging   relationships
	Unit 7: Disclosures
	7.1 Introduction
	7.2 Significance of financial instruments
	7.3 Balance Sheet
	7.4 Statement of profit and loss
	7.5 Other disclosures
	Comprehensive Illustrations
	Journal Entries to be done at every reporting date

	Extracts of FINANCIAL STATEMENTS of Listed Entities
	FOR Shortcut to Ind AS Wisdom: Scan ME!
	Ind AS 32                Ind AS 109
	Test Your Knowledge
	Questions
	Answers


	SEPARATOR
	Blank Page
	Blank Page

	Ch-9  Ind AS 115 (13.11.24)
	CHAPTER-9 IND AS 115:  REVENUE FROM CONTRACTS WITH CUSTOMERS
	Questions
	Answers


	Ch-10 Unit 1 Ind AS 41 (30.11.24)
	CHAPTER-10 uNIT 1 : Ind aS 41: Agriculture
	Questions
	Answers


	Ch-10 Unit 2 IND AS 20 (30.11.24)
	UNIT 2: Ind AS 20: Accounting for Government Grants and Disclosure of Government Assistance
	Questions
	Answers


	Ch-10 Unit 3 Ind AS 102 (5.12.24)
	UNIT 3 : Ind AS 102 : share-based payment
	Questions
	Answers


	Ch-11 Fin. Inst. PART-II (5.12.24)
	CHAPTER-11: ACCOUNTING AND REPORTING OF  FINANCIAL INSTRUMENTS
	Questions
	Answers


	Blank Page
	Ch-9  Ind AS 115 (13.11.24).pdf
	Indian Accounting Standard 115: Revenue  FROM CONTRACTS  WITH CUSTOMERS
	Learning Outcomes
	After studying this chapter, you will be able to:

	CHAPTER OVERVIEW
	1. SCOPE
	2. Definitions
	3. Overview
	4. Transition
	5. Step 1: Identifying the contract
	5.1 Criteria for recognizing a contract
	5.1.1 Criteria 1: The parties have approved the contract and are committed to perform
	5.1.2 Criteria 2: The entity can identify each party’s rights
	5.1.3 Criteria 3: The entity can identify the payment terms for the goods or services
	5.1.4 Criteria 4: The contract has commercial substance
	5.1.5. Criteria 5: It is probable the entity will collect substantially all of the consideration

	5.2 Contracts that do not pass Step 1: Reassessing the Step 1 criteria
	5.3 Contract term
	5.3.1 Termination provisions

	5.4 Combining contracts
	5.5 Contract Modifications
	5.5.1 Identifying a modification
	5.5.2 Accounting for the modification
	5.5.2.1 Modifications that constitute separate contracts
	5.5.2.2 Modifications that do not constitute separate contracts



	6. Step 2: Identifying performance obligations
	6.1 Criteria for identifying performance obligation
	6.1.1 Customer can benefit either on a stand-alone basis or with other readily available resources
	6.1.2 Separately identifiable from other promises in the contract
	6.1.2.1 Significant integration service
	6.1.2.2 Significant modification or customization
	6.1.2.3 Highly interdependent or highly interrelated

	6.2 Multiple Element Arrangements/ Goods and services that are not distinct
	6.3 Customer options for additional goods or services
	6.4 Long term arrangements
	6.5 Consignment Arrangements
	6.6 Principal vs agent consideration
	6.7 Non-refundable upfront fees

	7. Step 3: Determining the transaction price
	7.1 Variable consideration
	7.1.1  Penalties
	7.1.2 Estimating the amount of variable consideration
	7.1.3 Refund liabilities
	7.1.4 Constraining estimates of variable consideration
	7.1.5 Reassessment of variable consideration
	7.1.6 Sale with a right of return
	7.1.7 Warranties
	7.1.8 Sales-based or usage-based royalties

	7.2 Significant financing component
	7.3 Non-cash consideration
	7.3.1 Subsequent measurement of non-cash consideration
	7.3.2 Customer-provided goods or services

	7.4 Consideration payable to a customer

	8. Step 4: Allocating the transaction price to performance obligations
	8.1 Determining stand-alone selling price
	8.1.1 Allocation of a discount
	When to allocate discount to ‘less than all’ performance obligations?

	8.1.2 Allocation of variable consideration

	8.2 Changes in the transaction price

	9. STEP 5: Satisfying performance obligation
	9.1 What does transfer of control mean?
	9.2 Does the customer acquire control over a period of time or at a point in time?
	9.2.1 Transfer of control over a period of time:
	9.2.2 Transfer of control at a point in time:

	9.3 Repurchase agreements
	9.4 Bill-and-hold
	9.5 Licences of intellectual property
	9.5.1 Right to access
	9.5.2 Right to use


	10. CONTRACT COSTS
	10.1 Costs to obtain a contract (contract acquisition costs)
	Contract acquisition cost is not specifically dealt with in either in AS 7 or AS 9.  Let’s take an illustration to understand the treatment in AS 7 / AS 9 and how it is different from Ind AS:
	10.2 Costs to fulfil a contract (contract fulfilment costs)
	10.3 Amortisation and impairment

	11. presentation & disclosure
	11.1 Presentation
	11.2 Disclosure

	Disclosures  
	12. Service Concession Arrangements
	12.1 About Arrangement
	12.2 Accounting Principles
	12.2.1  Treatment of the operator’s rights over the infrastructure
	12.2.2  Recognition and measurement
	12.2.3  Consideration given by the grantor to the operator
	12.2.4 Contractual obligations to restore the infrastructure to a specified level of serviceability
	12.2.5  Borrowing costs incurred by the operator
	12.2.6  Financial asset
	12.2.7  Intangible asset
	12.2.8  Items provided to the operator by the grantor

	12.3  Service Concession Arrangements: Disclosures

	13. Extracts of financial statements of listed entity
	14. SIGNIFICANT DIFFERENCES in Ind AS 115 vis-à-vis AS 7 and AS 9
	FOR Shortcut to Ind AS Wisdom: Scan Me!
	Test Your Knowledge
	Questions
	Answers


	CHAPTER-10.pdf
	Ch-10 Unit 1 Ind AS 41 (30.11.24).pdf
	Other inDIAN ACCOUNTING STANDARDs
	Unit 1:  Indian Accounting Standard 41: Agriculture
	Learning Outcomes
	1.1 Introduction and objective
	1.2 ScOPE
	1.3 Relevant definitions
	1.4 recognition of assets
	1.5 Measurement
	1.6 Gains and losses
	1.7 government grants
	1.8 disclosure
	1.9 Extracts of FINANCIAL STATEMENTS of Listed  EntitY
	FOR Shortcut to Ind AS Wisdom: Scan Me!
	Test your Knowledge
	Questions
	Answers


	Ch-10 Unit 2 IND AS 20 (30.11.24)
	UNIT 2 : Indian Accounting Standard 20: Accounting  for Government Grants and Disclosure  of Government Assistance
	Learning Outcomes
	2.1 Introduction
	2.2 Scope
	2.2.1 Applicability
	2.2.2 Non-applicability

	2.3 Definitions
	2.4 Recognition of Government Grants
	2.4.1 Forgivable loan
	2.4.2 Loans at less than market rate of interest

	2.5 Accounting of Government Grant
	2.5.1 Whether receipts basis permissible
	2.5.2 Grants related to non-depreciable assets
	2.5.3 Conditional Grants received as part of a package of financial or fiscal aids
	2.5.4 Grant for expenses or losses already incurred and grant as an immediate financial support
	2.5.5 Non-monetary government grants
	2.5.6 Government Assistance – No Specific relation to Operating Activities

	2.6 Presentation of Grants Related to Assets
	2.6.1 Presentation in the Balance Sheet
	2.6.2 Disclosure in the statement of cash flows

	2.7 Presentation of Grants Related to Income
	2.8 Repayment of Government Grants
	Illustration 10

	2.9 Disclosure
	2.10 Extracts of FINANCIAL STATEMENTS of Listed   Entities
	2.11 sIGNIFICANT DIFFERENCES BETWEEN iND as 20   AND aS 12
	FOR Shortcut to Ind AS Wisdom: Scan Me!
	Test your knowledge
	Questions
	Answers


	Ch-10 Unit 3 Ind AS 102 (5.12.24)
	uNIT 3 : Indian Accounting Standard 102 :  share-based payment
	Learning Outcomes
	3.1 Introduction
	3.2 Definition
	3.2.1 Share-based payment arrangement
	3.2.2 Share-Based Payment Transaction
	Example 5


	3.3 Scope
	3.3.1 What is covered within Ind AS 102?
	3.3.2  What is not covered in Ind AS 102?

	3.4 Recognition
	3.5 Types of Share-based payments
	3.5.1 Equity Settled- Share-Based Payments
	3.5.2 Cash Settled- Share-Based Payments
	3.5.3 Share-Based Payment Transactions with Cash Alternatives

	3.6 Determining types of conditions
	3.6.1 Vesting conditions
	a) Service condition
	b) Performance condition

	3.6.2 Non-vesting conditions

	3.7 Determining impact of conditions on Share  based valuation
	3.8 Grant date
	3.9 Subsequent Measurement
	3.9.1 Equity settled Share-Based Payment
	3.9.2 Cash-settled share-based payment

	3.10 Modification, cancellation and settlements
	3.11 Fair value calculation
	3.12 Group share-based payment plan
	3.13 Disclosure
	3.14 Extracts of FINANCIAL STATEMENTS of Listed EntitY
	FOR Shortcut to Ind AS Wisdom: Scan Me!
	Test your knowledge
	Questions
	Answers



	Ch-9  Ind AS 115 (13.11.24).pdf
	CHAPTER-9 IND AS 115:  REVENUE FROM CONTRACTS WITH CUSTOMERS
	Questions
	Answers


	Ch-10 Unit 1 Ind AS 41 (30.11.24).pdf
	CHAPTER-10 uNIT 1 : Ind aS 41: Agriculture
	Questions
	Answers


	Ch-10 Unit 2 IND AS 20 (30.11.24).pdf
	UNIT 2: Ind AS 20: Accounting for Government Grants and Disclosure of Government Assistance
	Questions
	Answers


	Ch-10 Unit 3 Ind AS 102 (5.12.24).pdf
	UNIT 3 : Ind AS 102 : share-based payment
	Questions
	Answers


	Ch-11 Fin. Inst. PART-II (5.12.24).pdf
	CHAPTER-11: ACCOUNTING AND REPORTING OF  FINANCIAL INSTRUMENTS
	Questions
	Answers


	Ch-9  Ind AS 115 (13.11.24).pdf
	CHAPTER-9 IND AS 115:  REVENUE FROM CONTRACTS WITH CUSTOMERS
	Questions
	Answers


	Ch-10 Unit 1 Ind AS 41 (30.11.24).pdf
	CHAPTER-10 uNIT 1 : Ind aS 41: Agriculture
	Questions
	Answers


	Ch-10 Unit 2 IND AS 20 (30.11.24).pdf
	UNIT 2: Ind AS 20: Accounting for Government Grants and Disclosure of Government Assistance
	Questions
	Answers


	Ch-10 Unit 3 Ind AS 102 (5.12.24).pdf
	UNIT 3 : Ind AS 102 : share-based payment
	Questions
	Answers


	Ch-11 Fin. Inst. PART-II (5.12.24).pdf
	CHAPTER-11: ACCOUNTING AND REPORTING OF  FINANCIAL INSTRUMENTS
	Questions
	Answers


	PRACTICE QUESTIONS.pdf
	Ch-9  Ind AS 115 (13.11.24).pdf
	CHAPTER-9 IND AS 115:  REVENUE FROM CONTRACTS WITH CUSTOMERS
	Questions
	Answers


	Ch-10 Unit 1 Ind AS 41 (30.11.24)
	CHAPTER-10 uNIT 1 : Ind aS 41: Agriculture
	Questions
	Answers


	Ch-10 Unit 2 IND AS 20 (30.11.24)
	UNIT 2: Ind AS 20: Accounting for Government Grants and Disclosure of Government Assistance
	Questions
	Answers


	Ch-10 Unit 3 Ind AS 102 (5.12.24)
	UNIT 3 : Ind AS 102 : share-based payment
	Questions
	Answers


	Ch-11 Fin. Inst. PART-II (5.12.24)
	CHAPTER-11: ACCOUNTING AND REPORTING OF  FINANCIAL INSTRUMENTS
	Questions
	Answers



	CONTENT SHEET OF MODULE 4.pdf
	MODULE – 2
	MODULE – 3
	MODULE – 4
	MODULE – 5
	5.1 Criteria for recognizing a contract 9.7
	5.2 Contracts that do not pass Step 1: Reassessing the Step 1 criteria 9.12
	5.3 Contract term 9.12
	5.4 Combining contracts 9.13
	5.5 Contract Modifications 9.15
	6.  Step 2: Identifying performance obligations 9.20
	6.1 Criteria for identifying performance obligation 9.21
	6.2 Multiple Element Arrangements/Goods and services that are not distinct 9.30
	6.3 Customer options for additional goods or services 9.36
	6.4 Long term arrangements 9.39
	6.5 Consignment Arrangements 9.40
	6.6 Principal vs agent consideration 9.41
	6.7 Non-refundable upfront fees 9.45
	7.  Step 3: Determining the transaction price 9.46
	7.1 Variable consideration 9.48
	7.2 Significant financing component 9.66
	7.3 Non-cash consideration 9.77
	7.4 Consideration payable to a customer 9.80
	8.  Step 4: Allocating the transaction price to performance obligations 9.84
	8.1 Determining stand-alone selling price 9.84
	8.2 Changes in the transaction price 9.95
	9.  Step 5: Satisfying performance obligation 9.97
	9.1 What does transfer of control mean? 9.98
	9.2 Does the customer acquire control over a period of time or at a  point in time? 9.100
	9.3 Repurchase agreements 9.116
	9.4 Bill-and-hold 9.120
	9.5 Licences of intellectual property 9.123
	10.  Contract Costs 9.127
	10.1 Costs to obtain a contract (contract acquisition costs) 9.128
	10.2 Costs to fulfil a contract (contract fulfilment costs) 9.130
	10.3 Amortisation and impairment 9.131
	11.  Presentation & disclosure 9.132
	11.1 Presentation 9.132
	11.2 Disclosure 9.133
	12.  Service Concession Arrangements 9.135
	12.1  About Arrangement 9.135
	12.2 Accounting Principles 9.136
	12.3 Service Concession Arrangements: Disclosures 9.140
	13. Extracts of financial statements of listed entity 9.143
	14.  Significant Differences in Ind AS 119 vis-à-vis AS 7 and AS 9 9.146
	Shortcut to Ind AS Wisdom 9.149
	Test your knowledge 9.149
	Questions 9.149
	Answers  9.151
	Learning Outcomes 10.1
	Unit Overview 10.2
	1.1 Introduction and objective 10.3
	1.2 Scope 10.3
	1.3 Relevant definitions 10.5
	1.4 Recognition of assets 10.8
	1.5 Measurement 10.9
	1.6 Gains and Losses 10.12
	1.7 Government Grants 10.13
	1.8 Disclosure 10.16
	1.9 Extracts of financial statements of listed entity 10.21
	Shortcut to Ind AS Wisdom 10.23
	Test Your Knowledge 10.23
	Unit 2 – Indian Accounting Standard AS 20: Accounting for Government Grants and Disclosure of   Government Assistance
	Learning Outcomes 10.32
	Unit Overview 10.33
	2.1 Introduction 10.34
	2.2 Scope 10.34
	2.2.1  Applicability 10.34
	2.2.2  Non-applicability 10.34
	2.3 Definitions 10.35
	2.4 Recognition of government grants 10.37
	2.4.1 Forgivable loan  10.39
	2.4.2 Loans at less than market rate of interest 10.39
	2.5 Accounting of government grant 10.40
	2.5.1 Whether receipts basis permissible 10.42
	2.5.2 Grants related to non-depreciable assets 10.42
	2.5.3 Conditional grants received as part of a package of financial or fiscal aids 10.42
	2.5.4 Grant for expenses or losses already incurred and grant as    an immediate financial support 10.43
	2.5.9 Non-monetary government grants 10.43
	2.5.6 Government assistance-No specific relation to operating activities 10.44
	2.6 Presentation of grants related to assets 10.44
	2.6.1 Presentation in the Balance Sheet 10.44
	2.6.2 Disclosure in the statement of cash flows 10.45
	2.7 Presentation of grants related to income 10.46
	2.8 Repayment of government grants 10.47
	2.9 Disclosure  10.49
	2.10 Extracts of financial statements of listed entities 10.50
	2.11 Significant differences between Ind AS 20 and AS 12 10.50
	Shortcut to Ind AS Wisdom  10.52
	Test Your Knowledge 10.52
	Questions 10.52
	Answers 10.54
	Learning Outcomes 10.60
	Learning Outcomes 11.1
	Chapter Overview 11.3
	Quick Recap 11.96

	COPY RIGHT PAGE.pdf
	© THE INSTITUTE OF CHARTERED ACCOUNTANTS OF INDIA

	Blank Page



